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B.A. DEGREE EXAMINATION, APRIL 2025 

First Semester 

Economics 

MICRO ECONOMICS – I 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Scarcity. 

 Qøh¨£¸ø© C»UPn® Áøμ¯Ö. 

2. What do you mean by Deduction? 

 £Szuõ´Ä GßÓõÀ GßÚ? 

3. What is Budget line? 

 £möám ÁøÍ÷Põk GßÓõÀ GßÚ? 

4. Define Law of Diminishing Marginal Utility. 

 SøÓ¢uö\À CÖv{ø»¨ £¯ß£õmkÂv Áøμ¯Ö. 

5. State the meaning of Law of Supply. 

 AÎ¨¦ Âv ö£õ¸Ò SÔ¨¤kP. 
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6. Write Short note on Giffen Paradox. 

 QL£ß •μs£õk ]Ö SÔ¨¦ ÁøμP. 

7. Write the meaning of Economies of scale. 

 ]UPÚ[PÒ ö£õ¸øÍ GÊuÄ®. 

8. Give the meaning of Iso-quant. 

 \© EØ£zv ÁøÍ÷Põk ö£õ¸Ò u¸P. 

9. How do you calculate Average cost? 

 \μõ\› ö\»Ä GÆÁõÖ PnUQkÁx? 

10. Give the meaning of Sunk cost. 

 ‰ÌS® ö\»Ä ö£õ¸Ò u¸P. 

 Part B  (5 × 5 = 25) 

Answer all questions. choosing either (a) or (b) 

11. (a) Explain the nature of Micro Economics. 

  ~so¯À ö£õ¸Î¯À ußø©PøÍ ÂÍUSP. 

Or 

 (b) What are the advantages of Deductive method? 

  £Szuõ´Âß |ßø©PÒ ¯õøÁ? 

12. (a) Distinguish between Cardinal and Ordinal Utility. 

  •ßøÚ¯øu Gs©õÚ¨ £¯ß£õmk AqS•øÓ 
©ØÖ® ¤ßÚøu •øÓ©õÚ¨ £¯ß£õmk 
AqS•øÓ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 
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 (b) Illustrate the Law of Equi- Marginal Utility. 

  \© CÖv{ø» £¯ß£õmiøÚ ÂÍUSP. 

13. (a) Explain the different types of elasticity of demand. 

  ÷uøÁ ö|QÌa]°ß ÁøPPøÍ ÂÁ›. 

Or 

 (b) Explain the concept of Market equilibrium. 

  A[Põi \©{ø» ÷Põm£õmiøÚ ÂÁ›. 

14. (a) Explain the Producer’s equilibrium. 

  EØ£zv \©{ø» £ØÔ ÂÁ›. 

Or 

 (b) Distinguish between laws of returns and laws of 
returns to scale. 

  ÂøÍÄ ÂvUS® ÂQuõa\õμ ÂøÍÄ ÂvUS® EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ?  

15.  (a) Explain the different types of costs. 

  ö\»Âß £À÷ÁÖ ÁøPPÒ £ØÔ ÂÍUSP. 

Or 

 (b) Explain the relationship between Average Revenue 
and Marginal Revenue. 

  \μõ\› Á¸Áõ´US® CÖv{ø» Á¸Áõ´US® EÒÍ 
öuõhº¤øÚ ÂÍUSP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the advantages and disadvantages of Inductive 
approach. 

 öuõSzuõ´Ä AqS•øÓ°ß |ßø©PÒ ©ØÖ® wø©PÒ 
£ØÔ ÂÁ›. 
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17. Illustrate the Law of Diminishing Marginal Utility. 

 SøÓ¢u ö\À CÖv {ø»¨ £¯ß£õmiøÚ ÂÍUSP. 

18. Explain the Law of Demand with the help of a diagram. 

 ÷uøÁ Âvø¯ Áøμ£h® öPõsk ÂÁ›. 

19. Examine the Cobb-Douglas production function. 

 PõL¨hUÍì EØ£zva \õº¤øÚ ÂÁ›. 

20. Show the relationship between Average Cost curve and 
Marginal Cost curve. 

 \μõ\› ö\»ÂØS® CÖv {ø» ö\»ÂØS® EÒÍ 
öuõhº¤øÚ PõmkP. 

  
———————— 
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B.A. DEGREE EXAMINATION, APRIL 2025 

First Semester 

Economics 

STATISTICS FOR ECONOMICS – I 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all Questions 

1. Define Statistics.  

 ¦ÒÎ°¯À Áøμ¯ÖUP. 

2. What is an interview schedule? 

 ÷|ºPõnÀ AmhÁøn GßÓõÀ GßÚ? 

3. Give the meaning of tabulation. 

 AmhÁøn°ß ö£õ¸Ò u¸P. 

4. Define cumulative frequency. 

 Jmkö©õzu AvºöÁsøn Áøμ¯ÖUPÄ®. 

5. What is harmonic mean?  

 |À¼nUP \μõ\› GßÓõÀ GßÚ? 

6. Write the meaning of mode. 

 £¯ß•øÓ°ß Aºzuzøu GÊx[PÒ. 
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7. Define standard deviation. 

 vmh Â»Pø» Áøμ¯ÖUP. 

8. What do you mean by Kurtosis? 

 •PmhÍøÁ GßÓõÀ GßÚ? 

9. What is meant by positive correlation?  

 ÷|º©øÓ Cøhzöuõhº¦ GßÓõÀ GßÚ? 

10. Define regression. 

¤ßÚøhøÁ°UP® Áøμ¯ÖUP. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Specify the importance of statistics. 

  ¦ÒÎ°¯¼ß •UQ¯zxÁzøuU SÔ¨¤kP. 

Or 

 (b) Define secondary data, write the important methods 
of collecting secondary data. 

  Cμshõ® {ø»z uμøÁ Áøμ¯Özx, AzuμøÁa 
÷\P›ŸS® •UQ¯©õÚ •øÓPøÍ GÊxP. 

12. (a) List out the types of tables. 

  AmhÁøn°ß ÁøPPøÍ¨ £mi¯¼kP. 

Or 

 (b) What are the objectives of classification of data? 

  uμÄ ÁøP¨£kzu¼ß ÷|õUP[PÒ ¯õøÁ? 
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13. (a) Define Arithmetic Mean and mention the 
characteristics of a good average. 

  GsPou \μõ\›ø¯ Áøμ¯Özx, |À» \μõ\›°ß 
£s¦PøÍU SÔ¨¤kP. 

Or 

 (b) What is mode? Write its importance as measures of 
central tendency. 

  £¯ß•øÓ GßÓõÀ GßÚ? Auß •UQ¯zxÁzøu 
ø©¯¨ ÷£õUQß AÍÃkPÍõP GÊxP. 

14. (a) What do you mean by dispersion? What are the 
purposes for calculating dispersion? 

  Â»UP® GßÓõÀ GßÚ? Â»UPzøu 
PnUQkÁuØPõÚ ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Calculate range from the follow observation, also 
find the value of coefficient of range. 

75 29 96 15 7 8 11 7 4 9 

  ¤ßÁ¸® £mi¯¼¼¸¢x Áμ®ø£U PnUQkP, 
Áμ®¦U öPÊ ©v¨ø£²® PshÔP. 

75 29 96 15 7 8 11 7 4 9 

15. (a) Write the meaning and significance of correlation. 

  Cøhzöuõhº¦PÎß Aºzuzøu²®, •UQ¯zxÁzøu²® 
GÊxP. 

Or 
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 (b) Find regression equation of Y  on X  from the data 
given below:   ==== 118,84,20,16 2xxyYX . 

  R÷Ç öPõkUP¨£mkÒÍ uμÄPÎ¼¸¢x X  CÀ Y  
Cß ¤ßÚøhÂ¯UP \©ß£õmøhU PshÔP.  

  ==== 118,84,20,16 2xxyYX . 

 Part C  (3 × 10 = 30) 

Answer any THREE questions. 

16. Elaborate the functions and limitations of statistics. 

 ¦ÒÎ°¯¼ß ö\¯À£õkPÒ ©ØÖ® Áμ®¦PøÍ ÂÁ›UP. 

17. Illustrate the different types of graph with an example. 

£À÷ÁÖ ÁøP¯õÚ Áøμ£h[PøÍ GkzxUPõmkhß 
ÁøμP. 

18. Calculate mean, median and mode from the following 
data relating to the production of a for 12 months. 

Months Jan Feb March April May Jun 

Production  
(in tones) 

273 54 79 138 56 89 

Months July Aug Sep Oct Nov Dec 

Production  
(in tones) 

220 340 300 290 150 70 

 öuõÈØ\õø»°ß 12 ©õu EØ£zv öuõhº£õÚ ¤ßÁ¸® 
uμÄPÎ¼¸¢x \μõ\›, Cøh{ø» ©ØÖ® £¯ß•øÓø¯U 
PnUQkP. 

©õu® \ÚÁ› ¤¨ ©õºa H¨μÀ ÷© áüß

EØ£zv 
(hßÛÀ) 

273  54 79 138 56 89 

©õu® áüø» BU ö\¨ AUm |Á i\ 

EØ£zv 
(hßÛÀ) 

220 340 300 290 150 70 
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19. The data relating to the monthly production of a product 
in two manufacturing units are given below: 

Monthly Producation (in tonnes) Units 

Jan Feb March April May Jun 

Unit A 30 50 45 54 49 53 

Unit B 70 120 20 15 150 100 

 July Aug Sep Oct Nov Dec 

Unit A 60 46 41 56 59 45 

Unit B 90 80 10 25 95 85 

 Apply co-efficient of variation and find out which unit is 
more efficient and which unit is more consistent in 
production. 

 Cμsk EØ£zv A»SPÎ¼¸¢x ö£Ó¨£k® ö£õ¸Îß 
©õuõ¢vμ EØ£zv öuõhº£õÚ uμÄ R÷Ç 
öPõkUP¨£mkÒÍx 

©õu¢vμ EØ£zv (hßÛÀ) A»S 

\ÚÁ› ¤¨ ©õºa H¨μÀ ÷© `ß

A»S A 30 50 45 54 49 53 

A»S B 70 120 20 15 150 100 

 `ø» BU ö\¨ AUm |Á i\ 

A»S A 60 46 41 56 59 45 

A»S B 90 80 10 25 95 85 

 ©õÖ£õmkU öP¾ÂøÚ¨ £¯ß£kzv, EØ£zv°À G¢u 
A»S ªPÄ® vÓß ªUPx ©ØÖ® G¢u A»S ªPÄ® 
{ø»¯õÚx Gß£øuU PshÔP. 
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20. The following data provides the Age and BP of 10 women 
sample respondents: 

Age 56 42 36 47 49 

BP 147 125 118 128 145 

Age 42 60 72 63 55 

BP 140 155 160 149 156 

 Obtain two regression equations and also estimate BP of 
a women whose age is 45. 

 ¤ßÁ¸® uμÄ 10 ö£s ©õv› £v»ÎzuÁºPÎß Á¯x 
©ØÖ® Cμzu AÊzuzøu ÁÇ[SQÓx. 

Á¯x 56 42 36 47 49 

Cμzu AÊzu® 147 125 118 128 145 

Á¯x 42 60 72 63 55 

Cμzu AÊzu® 140 155 160 149 156 

 Cμsk ¤ßÚøhÂ¯UPa \©ß£õkPøÍ¨ ö£ÓÄ®, ÷©¾® 
45 Á¯xøh¯ ö£sPÎß Cμzu AÊzuzvøÚ 
©v¨¤hÄ®. 

——————— 

 



  

S–6028   

U.G. DEGREE EXAMINATION, APRIL 2025 

Economics 

Allied – FUNDAMENTALS OF MANAGEMENT 

(CBCS – 2023 onwards) 

Time : Three Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you understand by Management? 

{ºÁõP® £ØÔ } GßÚ ¦›¢x öPõÒQÓõ´? 

2. What is manager? 

÷©»õÍº GßÓõÀ GßÚ? 

3. What is the first stage of planning? 

vmhªku¼ß •uÀ Pmh® GßÚ? 

4. What do you understand by business decision making? 

ÁoP •iöÁk¨£uß ‰»® } GßÚ ¦›¢x öPõÒQÓõ´? 

5. Write a short note on business. 

ÁoP® £ØÔ¯ ]Ö SÔ¨ø£ GÊx. 

6. Give a note on organization level. 

 {ÖÁÚ AÍÂÀ SÔ¨¦ ÁøμP. 
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7. State the meaning of creativity. 

£øh¨£õØÓ¼ß ö£õ¸øÍU TÖP. 

8. What is motivation? 

•¯Ø] GßÓõÀ GßÚ? 

9. What is the process of controlling? 

Pmk¨£kzx® ö\¯À•øÓ GßÓõÀ GßÚ? 

10. Give a note on cost control. 

 ö\»ÄU Pmk¨£õk £ØÔ SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) List out the Scope of management. 

  {ºÁõPzvß ÷|õUPzøu £mi¯¼kP. 

Or 

 (b) Briefly explain the value Levels of Management. 

  {ºÁõPzvÚ ©v¨¦ {ø»PøÍ _¸UP©õÚ ÂÍUSP. 

12. (a) What are the different objectives of planning? 

  vmhªh¼ß öÁÆ÷ÁÖ ÷|õUP[PÒ GßÚ? 

Or 

 (b) Point out the nature of planning. 

  vmhªh¼ß ußø©ø¯ _miUPõmkP. 

13. (a) Bring out the types of business organization. 

  ÁoP Aø©¨¤ß ÁøPPøÍ öÁÎU öPõnºP. 

Or 
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 (b) Mention the training and business organizational 
development. 

  £°Ø] ©ØÖ® ÁoP{ÖÁÚ ÁÍºa]ø¯U SÔ¨¤kP. 

14. (a) Narrate organizational culture. 

  {ÖÁÚ P»õa\õμzøu ÂÁ›. 

Or 

 (b) Discuss about the motivation and satisfaction. 

  FUP® ©ØÖ® v¸¨v £ØÔ ÂÁõv. 

15.  (a) List out the types of controlling. 

  Pmk¨£kzx® ÁøPøPÍ £mi¯¼kP. 

Or 

 (b) Briefly explain about planning controlling. 

  vmhªhÀ Pmk¨£õmøh _¸UP©õP ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Examine the functions and importance of management. 

 {ºÁõPzvß ö\¯À£õkPÒ ©ØÖ® •UQ¯zxÁzøu 
Bμõ´P. 

17. Elucidate the techniques and process of decision making. 

 •iöÁkUS® ~m£[PÒ ©ØÖ® ö\¯À•øÓø¯ 
öuÎÄ£kzxP. 

18. Explain the career planning and management. 

 öuõÈÀ vmhªhÀ ©ØÖ® {ºÁõPzøu ÂÍUSP. 
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19. Analyze the managing cultural diversify. 

 P»õa\õμ £ß•Pzußø©ø¯ {ºÁQ¨£øu £S¨£õ´Ä 
ö\´P. 

20. Distinguish between maintenance control and quality 
control. 

 £μõ©›¨¦ Pmk¨£õk ©ØÖ® uμU Pmk¨£õk BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2025 

Economics 

Allied — INTRODUCTION TO SOCIOLOGY 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define society. 

 \‰PÂ¯ø» Áøμ¯ÖUPÄ®. 

2. Write a note on origin of sociology. 

 \‰PÂ¯¼ß ÷uõØÓ® £ØÔ J¸ SÔ¨¦ ÁøμP. 

3. Study about the association. 

 \[P® £ØÔ B´Ä ö\´P. 

4. Mention the meaning of community. 

 \‰Pzvß ö£õ¸øÍU SÔ¨¤hÄ®. 

5. What is socialization? 

 \‰P©¯©õUPÀ GßÓõÀ GßÚ? 

6. Give the meaning of secondary group. 

 Cμshõ®{ø» SÊ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define social stratification. 

 \‰P AkUS•øÚ Gß£øu Áøμ¯Ö. 

8. State the meaning of social stratification. 

 \‰P AkUS•øÚ Gß£uß ö£õ¸Ò TÖP. 

9. What is social change? 

 \‰P ©õØÓ® Gß£øu ÂÁ›. 

10. Write a short note on culture. 

 P»õa\õμ® £ØÔ¯ J¸ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the origin and development of society. 

  \‰PÂ¯¼ß ÷uõØÓ® ©ØÖ® ÁÍºa]°øÚ ÂÁõv. 

Or 

 (b) Briefly explain the types of social status according 
to max Weber. 

  ©õUì öÁ¨£›ß \‰P A¢uìzvß ÁøPPøÍ 
_¸UP©õP ÂÁ›. 

12. (a) Analyze the role of Co-operation in social life. 

  \‰P ÁõÌUøP°À JzxøÇ¨¤ß £[QøÚ 
£Szuõ´P. 

Or 

 (b) Explain the relationship between institution and 
association. 

  {ÖÁÚ® ©ØÖ® \[P[PÒ Cøh÷¯¯õÚ öuõhº¤øÚ 
öuÎÁõP öÁÎUöPõnºP. 
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13. (a) Explain the characteristics of social groups. 

  \‰PU SÊUPÎß Snõv\¯[PøÍ ÂÁ›. 

Or 

 (b) Describe the relationship between society and 
individual. 

  \•uõ¯® ©ØÖ® uÛ|£º Cøh°»õÚ öuõhº¤øÚ 
TÖP. 

14. (a) List out the functions of social stratification. 

  \‰P AkUS•øÓ°ß £oPøÍ Á›ø\¨£kzxP. 

Or 

 (b) Mention the determinants of social mobility. 

  \‰P C¯USuø» wº©õÛ¨£øÁPøÍU SÔ¨¤kP. 

15.  (a) Distinguish between culture and civilization. 

  P»õa\õμ® ©ØÖ® |õPŸP® ÷ÁÖ£kzxP. 

Or 

 (b) What are the factors of social change? 

  \‰P ©õØzvß Põμn[PÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the scope and nature of sociology. 

 \‰PÂ¯¼ß ÷|õUP® ©ØÖ® ußø©ø¯ ÂÍUSP. 

17. Discuss the social structure of society. 

 \‰Pzvß \‰P Pmhø©¨ø£ ÂÍUSP. 
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18. Elucidate the stages and agencies of socialization. 

 \‰P©¯©õUP¼ß {ø»PÒ ©ØÖ® •Pø©PøÍ ÂÁ›. 

19. Elaborate the characteristics of social stratification. 

 \‰P AkUS •øÓ°ß Snõv\¯[PøÍ ÂÁ›UP. 

20. Explain the progress and development of social change. 

 \‰P ©õØÓzvß •ß÷ÚØÓ® ©ØÖ® ÁÍºa]ø¯ ÂÁ›. 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2025 

Economics 

Allied – HISTORY OF ECONOMIC THOUGHT 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the main goal of Mercantilism?  

 ÁoPÁõuzvß •UQ¯ SÔU÷PõÒ GßÚ? 

2. Mention the few important physiocrats. 

 ]» •UQ¯©õÚ C¯ØøPÁõu[PøÍ SÔ¨¤kP. 

3. What do you mean by division of labour? 

 ÷Áø»¨ £S¨¦ Gß£uß ö£õ¸Ò GßÚ? 

4. What is the meaning of the laissez-faire? 

 uø»°hõU öPõÒøP Gß£uß Aºzu® GßÚ? 

5. What is consumer surplus as level economics? 

 ~Pº÷Áõº E£› Gß£x {ø» ö£õ¸Íõuõμ® GßÓõÀ 
GßÚ? 

6. What is meant by quasi rent? 

 ÷£õ¼ Áõμ® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is the psychology law of consumption? 

 ~PºÄ EÍÂ¯À Âv GßÓõÀ GßÚ? 

8. What is the rational expectations theory? 

 £SzuÔÄ Gvº£õº¨¦PÎß ÷Põm£õk GßÚ? 

9. Who is the Nobel laureate of economics India? 

 C¢v¯õÂÀ ö£õ¸ÍõuõμzvØPõÚ ÷|õ£À £›_ ö£ØÓÁº 
¯õº? 

10. Who is the father of Indian economic thought? 

 C¢v¯ ö£õ¸Íõuõμ ]¢uøÚ°ß u¢øu ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b) 

11. (a) Explain the main tenets of mercantilism? Trace its 
vestiges in modern economic policies 

  ÁoPÁõuzvß •UQ¯ öPõÒøPPøÍ ÂÍUSP? 
|ÃÚ ö£õ¸ÍõuõμU öPõÒøPPÎß Auß 
Aøh¯õÍ[PøÍU Psh. 

Or 

 (b) Explain the physiocratic idea of the circular flow of 
economic life. 

  ö£õ¸Íõuõμ ÁõÌUøP°ß _ÇØa] •øÓ°À 
C¯ØøPÁõvPÎß P¸zøu ÂÍUSP. 

12. (a) Analyse Ricardo’s theory of value. 

  ›UPõm÷hõÂß ©v¨¤ß ÷Põm£õmøh £S¨£õ´Ä 
ö\´P. 

Or 

 (b) Briefly examine Karl Marx theory of surplus value. 

  PõºÀ ©õºUêß E£› ©v¨¦U ÷Põm£õmøh 
_¸UP©õÚP Bμõ´P. 
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13. (a) Explain clearly what ‘Neo – classicism’? In this 
connection analyse the contribution of Marshall to 
economic theory. 

  GßÚ ‘¦v¯ öuõsø©Áõu®’ Gß£øu öuÎÁõP 
ÂÍUSP? Cx öuõhº£õP ö£õ¸Íõu©õμU 
÷Põm£õmiØS ©õºå¼ß £[PÎ¨ø£ £S¨£õ´Ä 
ö\´P. 

Or 

 (b) Given a brief account of the theories of 
constitutional economist especially those of Veblen 
and Mitchell. 

  {ÖÁÚ¨ ö£õ¸Íõuõμ {¦n›ß SÔ¨£õP öÁ¨ö»ß 
©ØÖ® ªmö\À BQ÷¯õ›ß ÷Põm£õkPÎß 
_¸UP©õÚ PnUS öPõŸkUP¨£mhx. 

14. (a) What is meant by the Keynesian Revolution? 
Explain its impact on different branches of economic 
theory. 

  öP°ß]¯ß ¦μm] GßÓõÀ GßÚ? ö£õ¸ÍõuõμU 
÷Põm£õmjß £À÷ÁÖ ¤›ÄPÎß Auß uõUPzøu 
ÂÍUSP. 

Or 

 (b) Explain the Schumpeter’ s theory of innovation 

  åý®¥mh›ß ¦xø©U ÷Põm£õmøh ÂÍUSP. 

15.  (a) Give the main features of ancient India economic 
thought. 

  £søh¯ C¢v¯õÂß ö£õ¸õuõμ ]¢uøÚ°ß 
•UQ¯ A®\[PøÍU ÂÁ›UP. 

Or 

 (b) Describe the contribution of Simon Kuznets. 

  ø\©ß Sìö|mêß £[PÎ¨ø£ ÂÁ›UP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the main contribution of the Mercantilists to 
economic thought. 

 ö£õ¸Íõuõμ ]¢uøÚ°À ÁoPÁõvPÎß •UQ¯ 
£[PÎ¨ø£¨ £ØÔ ÂÁõvUP. 

17. How far was Malthus responsible for the note of gloom 
and pessimism which pervaded the economic doctrines of 
the nineteenth century? 

 £zöuõß£uõ® ¡ØÓõsjß ö£õ¸ÍõuõμU ÷Põm£õkPÎß 
Â¯õ¤zv¸¢u C¸Ò ©ØÖ® AÁ|®¤UøP°ß SÔ¨¦US 
©õÀuì GÆÁÍÄ yμ® Põμn©õP C¸¢uõº? 

18. Discuss the place of Marshall in economic thought. 

 ö£õ¸Íõuõμ {¢uøÚ°À ©õºå¼ß Chzøu¨ £ØÔ 
ÂÁõvUP. 

19. Evaluate the contribution of Keynes to economic thought. 

 ö£õ¸Íõuõμ ]¢uøÚ°À öP´ßêß £[PÎ¨ø£ 
©v¨¤kP. 

20. Describe the role of Visvesvaraya in the development of 
the idea of economic planning in India. 

 C¢v¯õÂÀ ö£õ¸Íõuõμ vmhªhÀ ÷¯õ\øÚ°ß 
ÁÍºa]°À Âì÷ÁìÁμ´¯õÛŸ £[øP ÂÁ›UP. 

———————— 
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B.A. DEGREE EXAMINATION, APRIL 2025 

First Semester 

Economics 

DEMOGRAPHY 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by the term Population? 

 ©UPÒ öuõøP GßÓõÀ GßÚ? 

2. Define: Demography. 

 Áøμ¯Ö: ©UPÒöuõøP 

3. What is death rate? 

 CÓ¨¦ ÂQu® GßÚ? 

4. What do you understand by census data? 

 ©UPÒ öuõøP PnUöPk¨¦ uμÄ £ØÔ } GßÚ ¦›¢x 
öPõÒQÓõ´? 

5. Write a short note on urbanization. 

 |Pμ©¯©õUPÀ £ØÔ J¸ ]Ö SÔ¨¦ GÊx. 

6. Define: migration. 

 Áøμ¯Ö: Ch®ö£¯ºÄ. 
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7. State the meaning of Population growth. 

 ©UPÒöuõøP ÁÍºa]°ß ö£õ¸øÍU TÖP. 

8. What is environment? 

 _ØÖa`ÇÀ GßÓõÀ GßÚ? 

9. What do you understand by the word Human 
Development Index? 

 ©Ûu ÁÍºa]U SÔ±møh £ØÔ } GßÚ ¦›¢x 
öPõÒQÓõ´? 

10. Give a note on population evaluation. 

 ©UPÒ öuõøP ©v¨¥k £ØÔ SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the scope of demography. 

  ©UPÒöuõøP°ß ÷|õUPzøu¨ £mi¯¼kP. 

Or 

 (b) Briefly explain the theory of demographic 
transition. 

  ©UPÒöuõøP ©õØÓzvß ÷Põm£õmøh _¸UP©õP 
ÂÍUSP. 

12. (a) What are the reproductive and child health India? 

  CÚ¨ö£¸UP® ©ØÖ® SÇ¢øu B÷μõUQ¯® C¢v¯õ 
GßÓõÀ GßÚ? 

Or 

 (b) Discuss the total fertility rate. 

  ö©õzu P¸ÄÖuÀ ÂQuzøu¨ £ØÔ ÂÁõv. 
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13. (a) Bring out the importance of migration. 

  Ch®ö£¯ºÂß •UQ¯zxÁzøu öÁÎU öPõnºP. 

Or 

 (b) What are concepts of migration and urbanization? 

  Ch®ö£¯ºÄ ©ØÖ® |Pμ©¯©õUPÀ £ØÔ¯ 
P¸zxUPÒ GßÚ? 

14. (a) Narrate the international aspects of population 
growth distribution. 

  ©UPÒöuõøP ÁÍºa] £μÁ¼ß \ºÁ÷u\ A®\[PøÍ 
ÂÁ›. 

Or 

 (b) Discuss the population trend and its growth. 

  ©UPÒöuõøP ÷£õUS ©ØÖ® ÁÍºa]ø¯¨ £ØÔ 
ÂÁõv. 

15.  (a) List out the nature of Indian population policy. 

  C¢v¯ ©UPÒ öuõøPU öPõÒøP°ß ußø©ø¯ 
£mi¯¼kP. 

Or 

 (b) Briefly explain the National Population 
Commission. 

  ÷u]¯ ©UPÒ öuõøP Bøn¯zøu _¸UP©õP 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Examine the optimum population theory. 

 EP¢u ©UPÒöuõøPU ÷Põm£õmøh Bμõ´P. 

17. Elucidate the age specific birthrate and death rate. 

 Á¯x SÔ¨¤mh ¤Ó¨¦ ÂQu® ©ØÖ® CÓ¨¦ ÂQuzøu 
öuÎÄ£kzxP. 
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18. Elaborate the effects of urbanization. 

 |Pμ©¯©õUP¼ß ÂøÍÄPøÍ ÂÁ›. 

19. Analyze the environment pattern of age and sex structure 
in developed and developing countries. 

 ÁÍº¢u ©ØÖ® ÁÍ¸® |õkPÎÀ Á¯x ©ØÖ® £õ¼Ú 
Pmhø©¨¤ß _ØÖa`ÇÀ ÁiÁzøu £S¨£õ´Ä ö\´P. 

20. Summarize the strategies for Human Development of 
different social change. 

 £À÷ÁÖ \‰P ©õØÓ[PÎß ©Ûu ÁÍºa]UPõÚ EzvPøÍ 
öuõSzxøμUP. 

———————— 
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B.A. DEGREE EXAMINATION, APRIL 2025 

First Semester 

Economics 

BUSINESS COMMUNICATION 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define communication. 

 uPÁÀ öuõhº¦ Áøμ¯ÖUPÄ®. 

2. Write any two barriers of communication. 

 uPÁÀ öuõhº¤ß H÷uÝ® Cμsk uøhPøÍ GÊx[PÒ. 

3. State the meaning of corporate communication. 

 Põº¨£÷μm uPÁÀ öuõhº¦ Gß£uß ö£õ¸øÍU TÓÄ®. 

4. What do you understand by communication structure? 

 uPÁÀ öuõhº¦ Pmhø©¨¤ß ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? 

5. Define business letter. 

 ÁoP Piuzøu Áøμ¯ÖUPÄ®. 

6. Find the meaning of sales letter. 

 ÂØ£øÚ Piuzvß ö£õ¸øÍU PshÔ¯Ä®. 
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7. Tell the meaning of Insurance correspondence. 

 Põ¨¥mk Piu¨ £›©õØÓzvß Aºzuzøua ö\õÀ¾[PÒ. 

8. State the meaning of agency correspondence. 

 Höáß] Piu¨ £›©õØÓzvß ö£õ¸øÍU TÓÄ®. 

9. What is report writing? 

 AÔUøP GÊxÁx GßÓõÀ GßÚ? 

10. List any two Purpose of report writing. 

 AÔUøP GÊxÁvß H÷uÝ® Cμsk ÷|õUP[PøÍ 
£mi¯¼k[PÒ. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Narrate the objectives of communication. 

  uPÁÀ öuõhº¦ ÷|õUP[PøÍ ÂÁ›UPÄ®. 

Or 

 (b) State the process and element of communication. 

  uPÁÀ öuõhº¦ ö\¯À•øÓ ©ØÖ® TÖPøÍU 
SÔ¨¤hÄ®. 

12. (a) Describe the need for communication. 

  uPÁÀ öuõhº¦ ÷uøÁø¯ ÂÁ›UPÄ®. 

Or 

 (b) Explain the communication structure in an 
organisation. 

  J¸ {ÖÁÚzvÀ uPÁÀ öuõhº¦ Pmhø©¨ø£ 
ÂÍUS[PÒ. 
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13. (a) Enumerate the need for business letter. 

  ÁoPU Piuzvß ÷uøÁø¯¨ £mi¯¼hÄ®. 

Or 

 (b) Explain the functions of business letter. 

  ÁoPU Piuzvß ö\¯À£õkPøÍ ÂÍUS[PÒ. 

14. (a) Elucidate the bank correspondence. 

  Á[Q Piu¨ £›©õØÓzøu öuÎÄ¨£kzuÄ®. 

Or 

 (b) Outline the agency correspondence. 

  Höáß] Piu¨ £›©õØÓzøu ÷PõimkU Põmk[PÒ. 

15. (a) Identify the report by individual and committees. 

  uÛ|£º ©ØÖ® SÊUPÒ AÔUøPø¯ Aøh¯õÍ® 
PõnÄ®. 

Or 

 (b) Write a note on agenda and minutes of meeting. 

  {PÌa] {μÀ ©ØÖ® Tmh |hÁiUøPU SÔ¨¦ £ØÔ 
J¸ SÔ¨ø£ GÊx[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Summarise the types and media of communication. 

 uPÁÀ öuõhº¦ ÁøPPÒ ©ØÖ® FhP[PøÍ _¸UPÄ®. 

17. Enumerate the importance of communication in 
management. 

 {ºÁõPzvÀ uPÁÀ öuõhº¤ß •UQ¯zxÁzøu 
£mi¯¼hÄ®. 
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18. Explain the kinds of business letter. 

 ÁoP Piuzvß ÁøPPøÍ ÂÍUS[PÒ. 

19. Describe import-export communication. 

 CÓUS©v&HØÖ©v uPÁÀ öuõhºø£ ÂÁ›UPÄ®. 

20. Identify the characteristics of a good report. 

 J¸ |À» AÔUøP°ß £s¦PøÍ Aøh¯õÍ® PõnÄ®. 

———————— 
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B.A. DEGREE EXAMINATION, APRIL 2025 

Second Semester 

Economics 

MICRO ECONOMICS — II 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by equilibrium of industry? 

 öuõÈÀ \©{ø» GßÓõÀ GßÚ? 

2. What is a perfect competition in economics? 

 ö£õ¸ÍõuõμzvÀ {øÓÄ¨ ÷£õmi GßÓõÀ GßÚ? 

3. What is deadweight loss? 

 Gøh CÇ¨¦ GßÓõÀ GßÚ? 

4. What is monopoly equilibrium? 

 \ºÁõvÚa \©{ø» GßÓõÀ GßÚ? 

5. How to find market equilibrium? 

 A[Põia \©{ø» GßÓõÀ GßÚ? 

6. What is a cartel? 

 Tmhø©¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is the product exhaustion theorem? 

 EØ£zva ÷\õºÄ ÷uØÓ® GßÓõÀ GßÚ? 

8. What is the function of distribution in economics? 

 ö£õ¸ÍõuõμzvÀ £QºÂß ö\¯À£õk GßÚ? 

9. What is Pareto optimality? 

 £õ›m÷h Ezu©ÍÄ GßÓõÀ GßÚ? 

10. What is consumption? 

 ~PºÄ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the features of perfect competition. 

  {øÓÄ¨ ÷£õmi°ß A®\[PøÍ £mi¯¼kP. 

Or 

 (b) Explain the time element in the determination of 
price. 

  Âø»ø¯ {ºn°¨£vÀ EÒÍ ÷|μ EÖ¨ø£ 
ÂÍUSP. 

12. (a) How to attain equilibrium under monopoly market? 
Explain it. 

  \ºÁõvÚ A[Põi°ß RÌ \©{ø»ø¯ GÆÁõÖ 
AøhÁx? Aøu ÂÍUP. 

Or 

 (b) What is price discrimination and how does it work? 

  Âø»¨ £õS£õk GßÓõÀ GßÚ, Ax GÆÁõÖ 
ö\¯À£kQÓx? 
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13. (a) Explain the kinked demand curve. 

  v¸¨£ •ØÓz ÷uøÁ ÁøÍøÁ ÂÍUSP. 

Or 

 (b) Examine the Nash equilibrium. 
  |õè \©{ø»ø¯ B´Ä ö\´¯. 

14. (a) Describe the marginal productivity theory of 
distribution. 

  CÖv{ø» EØ£zv £QºÄU ÷Põm£õmøh ÂÁ›UP. 

Or 

 (b) Enunciate the product exhaustion theorem. 
  EØ£zva ÷\õºÄ ÷uØÓzøu TÖP. 

15. (a) What is market failure? Mention the types and 
solutions of market failure. 

  A[Põiz ÷uõÀÂ GßÓõÀ GßÚ? A[Põiz 
÷uõÀÂ°ß ÁøPPÒ ©ØÖ® wºÄPøÍU SÔ¨¤k. 

Or 

 (b) Explain the static properties for consumption, 
production and distribution. 

  ~PºÄ, EØ£zv ©ØÖ® £QºÂØPõÚ {ø»¯õÚ 
£s¦PøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Analyse the equilibrium of firm and industry in the short 
run. 

 SÖQ¯ Põ»zvÀ {ÖÁÚ® ©ØÖ® öuõÈÀxøÓ°À 
\©{ø»ø¯ £S¨£õ´Ä ö\´P. 

17. Examine the policies to control monopoly. 
 •ØÖ›ø©°øÚ Pmk¨£kzxÁuØPõÚ öPõÒøPPøÍ 

Bμõ´P. 
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18. Critically evaluate the game theory. 

 ÂøÍ¯õmkU ÷Põm£õmøh Â©º\Ú Ÿv¯õP ©v¨¤k[PÒ. 

19. Elucidate the marginal productivity theory of 
distribution. 

 CÖv{ø» EØ£zvQ ÷Põm£õmøh £QºÂÀ öuÎÄ£kzx. 

20. Critically evaluate the Pareto welfare criteria. 

 £÷μm÷hõ |»ß \õº¢u AÍÄ÷PõÀPøÍ Â©º\Ú Ÿv¯õP 
©v¨¤kP. 

———————— 
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B.A. DEGREE EXAMINATION, APRIL 2025 

Second Semester 

Economics 

STATISTICS FOR ECONOMICS — II 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by index number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 

2. Give a formula of cost of living index. 

 ÁõÌUøPa ö\»ÄU SÔ±miß `zvμzøuU öPõk. 

3. Definition time series analysis. 

 Áøμ¯øÓ ÷|º öuõhº £S¨£õ´Ä. 

4. Mention few uses of trend. 

 ÷£õUQß ]» £¯ß£õkPøÍU SÔ¨¤k. 

5. Write a short note on Poisson distribution. 

 £õ´\ß Â{÷¯õP® £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

6. Mention a few properties of normal distribution. 

 \õuõμn Â{÷¯õPzvß ]» £s¦PøÍU SÔ¨¤k. 
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7. What is sampling? 

 TöÓk¨¦ Gk¨£x GßÓõÀ GßÚ? 

8. Mention the limitations of sampling. 

 TöÓk¨¦°ß Áμ®¦PøÍU SÔ¨¤k. 

9. Define the term variance. 

 ©õÖ£õk GßÓ £uzøu Áøμ¯ÖUP. 

10. What is null hypothesis? 

 §ä¯ P¸x÷PõÒ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) During a certain year, cost of living index number 
goes up from 110 to 200 and the salary of worker is 
also raised from 3,250 to 5,000. Does the worker 
really gain? 

  J¸ SÔ¨¤mh BsiÀ 200 À C¸¢x 110 
ÁõÌUøPa ö\»ÄU SÔ±mk Gs, BP E¯ºQÓx 
÷©¾® öuõÈ»õÎ°ß \®£Í•® BP ¹. 3,250/& 
¼¸¢x ¹. 5,000/& BP E¯ºzu¨£kQÓx. öuõÈ»õÎ 
Esø©°À »õ£® AøhQÓõμõ? 

Or 

 (b) The wholesale price index (o price relative) of 
tomatoes in 2018 compared to 2016 is 150. If the 
cost of tomatoes was Rs. 15 per kg in 2016, calculate 
the cost in 2018. 

  uUPõÎ°ß 2016&® Bskhß 2018&® Bskhß 
ö©õzu Âø»U SÔ±k J¨¥mkzöuõøP ¹. 150/& 
HöÚÛÀ 2016&® Bsk uUPõÎ°ß AhUPÂø»  
1 Q÷»õÄUS ¹. 15/& GÛÀ 2018&® Bsiß 
AhUPÂø»ø¯ PnUQkP. 
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12. (a) Describe advantages and disadvantages of method 
of semi average. 

  Aøμ \μõ\› •øÓ°ß |ßø©PÒ ©ØÖ® wø©PøÍ 
ÂÁ›UP. 

Or 

 (b) Explain the uses of trend analysis. 

  ÷£õUS £S¨£õ´Âß £¯ß£õkPøÍ ÂÍUSP. 

13. (a) A university has to select an examiner from a list of 
50 persons, 20 of them women and 30 men, 10 of 
them knowing Hindi and 40 not. 15 of them being 
teachers and the remaining 35 not. What is the 
probability of University selecting a Hindi-knowing 
women teacher? 

  J¸ £ÀPø»UPÇP® |£ºPÎß £mi¯¼¼¸¢x J¸ 
÷uºÁõÍøμ 50 BsPÒ, 30 ÷£º ö£sPÒ ©ØÖ® 20 
AÁºPÎÀ, ÷uºöukUP ÷Ásk®. ÷£º 
öu›¯õuÁºPÒ 40 ÷£º C¢v öu›¢uÁºPÒ ©ØÖ® 10 
AÁºPÎß ÷£º C 35 «u•ÒÍ, ÷£º B]›¯ºPÒ 15 
AÁºPÎÀø» C¢v öu›¢u ö£s B]›¯øμ 
£ÀPøÇUPÇP® ÷uº¢öuk¨£uØPõÚ {PÌuPÄ 
GßÚ? 

Or 

 (b) There are three groups of children, each contains  
3 girls and 1 boy, 2 girls and 2 boys, 1 girl and 3 
boys respectively. One child is selected at random 
from each group. Find the chance that the three 
selected comprise 1 girl and 2 boys. 

  SÇ¢øuPÎß ‰ßÖ SÊUPÒ EÒÍÚ. •øÓ÷¯ 
JÆöÁõßÔ¾® 3 ö£s ©ØÖ® 1 Bs, 2 ö£s 
©ØÖ® 2 Bs, 1 ö£s ©ØÖ® 3 Bs. JÆöÁõ¸ 
SÊÂ¾® 1 SÇ¢øu ÷uº¢öukUS® £m\zvÀ  
3 SÇ¢øuPÎÀ, 1 ö£s ©ØÖ® 2 Bs 
÷uº¢öuk¨£uØPõÚ Áõ´¨ø£ PnUQkP. 
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14. (a) Distinguish between random sampling and  
non-random sampling. 

  ^º TöÓk¨¦ ©ØÖ® ^μØÓ TöÓk¨¦ø¯ 
÷ÁÖ£kzuÄ®. 

Or 

 (b) Explain the significance of sample. 
  TöÓk¨¤ß •UQ¯zxÁzøu ÂÍUSP. 

15. (a) What is normal distribution? Highlights its 
important properties. 

  \õuõμn Â{÷¯õP® GßÓõÀ GßÚ? Auß •UQ¯ 
£s¦PøÍ •ßÛø»¨£kzxQÓx. 

Or 

 (b) Distinguish between null hypothesis and 
alternative hypothesis 

  §ä¯ P¸x÷PõÒ ©ØÖ® ©õØÖ P¸x÷PõÒ 
BQ¯ÁØøÓ ÷ÁÖ£kzvU Põmk. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. In the construction of a certain Cost of Living Index 
Number the following group index numbers were found. 
Calculate the Cost of living Index Number by using  

 (a) The weighted arithmetic mean  

 (b) The weighted geometric mean. 

 Group Index Number Weights

1. Food 350 5 

2. Fuel and Lighting 200 1 

3. Clothing 240 1 

4. House Rent 160 1 

5. Miscellaneous 250 2 
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 J¸ SÔ¨¤mh ÁõÌUøPa ö\»ÄU SÔ±mk Gsoß 
Pmk©õÚzvÀ ¤ßÁ¸® SÊU SÔ±mk GsPÒ 
Põn¨£mhÚ. 

 (A) Gøh²ÒÍ GsPou \μõ\› 

 (B) Gøh²ÒÍ ÁiÂ¯À \μõ\›ø¯¨ £¯ß£kzv 
ÁõÌUøPa ö\»Ä SÔ±mk GsønU PnUQk[PÒ. 

 SÊ SÔ±mk Gs GøhPÒ

1. EnÄ 350 5 

2. G›ö£õ¸Ò ©ØÖ® 
ÂÍUSPÒ 

200 1 

3. Bøh 240 1 

4. Ãmk ÁõhøP 160 1 

5. Cuμ 250 2 

17. Fit a straight line trend by the method of least squares 
and calculate the trend values  

Year 2015 2016 2017 2018 2019 2020 2021

Production 12 10 14 11 13 15 16 

 SøÓ¢u£m\ \xμ[PÎß •øÓ°ß ‰»® ÷|º÷Põmk¨ 
÷£õUøP¨ ö£õ¸zv, ÷£õUS ©v¨¦PøÍU PnUQk[PÒ. 

Bsk 2015 2016 2017 2018 2019 2020 2021

EØ£zv 12 10 14 11 13 15 16 

18. 12 coins are tossed what are the probabilities in a single 
toss getting : 

 (a) 9 or more heads, 

 (b) Less than 3 heads 

 (c) At least 8 heads 
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 12 |õn¯[PÒ yUQ GÔ¯¨£mhõÀ, J¸ hõêÀ QøhUS® 
{PÌuPÄPÒ GßÚ : 

 (A) 9 AÀ»x AuØS ÷©Ø£mh uø»PÒ, 

 (B) 3US SøÓÁõÚ uø»PÒ 

 (C) SøÓ¢ux uø»PÒ 8 

19. What do you mean by sampling? Describe briefly main 
types of sampling methods. 

 TöÓk¨¦ Gk¨£x GßÓõÀ GßÚ? TöÓk¨¦ •øÓPÎß 
•UQ¯ ÁøPPøÍ _¸UP©õP ÂÁ›UP. 

20. Explain the distinctive features of Binomial, Normal and 
Poisson probability distributions. 

 ø£÷Úõª¯À C¯À£õÚ ©ØÖ®, £õ´éß {PÌuPÄ 
Â{÷¯õP[PÎß uÛzxÁ©õÚ A®\[PøÍ ÂÍUSP. 

———————— 
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Allied – GENERAL ECONOMICS 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Market. 

 A[Põiø¯ Áøμ¯ÖUP. 

2. What do you mean by income? 

 Á¸©õÚ® GßÓõÀ GßÚ? 

3. Who is a consumer? 

 ~Pº÷Áõº ¯õº? 

4. Mention the properties of indifferent curves. 

 \©÷|õUS ÁøÍÄPÎß £s¦PøÍU SÔ¨¤hÄ®. 

5. What do you mean by production? 

 EØ£zv GßÓõÀ GßÚ? 

6. Define iso-quants. 

 \© EØ£zv Áø»÷Põk Áøμ¯ÖUP. 

7. What is the marginal cost? 

 CÖv{ø»a ö\»Ä GßÓõÀ GßÚ? 
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8. What is the relationship between AR and MR? 

 AR  ©ØÖ® MR Cøh÷¯ EÒÍ öuõhº¦ GßÚ? 

9. Mention few features of Oligopoly. 

 ]À÷»õº •ØÖ›ø©°ß ]» A®\[PøÍU SÔ¨¤hÄ®. 

10. Define product price. 

 ö£õ¸Îß Âø»ø¯ Áøμ¯ÖUP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the scarcity definition of economics. 

  ö£õ¸Íõuõμzvß £ØÓõUSøÓ C»UPnzøu 
ÂÍUSP. 

Or 

 (b) What are the main divisions of economics? Explain 
it. 

  ö£õ¸Íõuõμzvß •UQ¯ ¤›ÄPÒ GßÚ? Aøu 
ÂÍUSP. 

12. (a) Explain the law of diminishing marginal utility. 

  SøÓ¢uö\À CÖv{ø» £¯ß£õmøh ÂÍUSP. 

Or 

 (b) Why demand curve downward slope? Explain it. 

  ÷uøÁU ÷Põk RÌ÷|õUQa ö\ÀÁuØPõÚ Põμn® 
GßÚ? ÂÁ›UP. 

13. (a) Distinguishes between short run production and 
long run production. 

  SÖQ¯ Põ» EØ£zv ©ØÖ® }sh Põ» EØ£zv°ß 
÷ÁÖ£õkPøÍz u¸Â.  

Or 
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 (b) What are the relationship between total production, 
average production and marginal production? 

  ö©õzu EØ£zv, \μõ\› EØ£zv ©ØÖ® CÖv{ø» 
EØ£zv BQ¯ÁØÖUS Cøh÷¯ EÒÍ öuõhº¦ 
GßÚ? 

14. (a) Write a short note of fixed cost and variable cost. 

  {ø»¯õÚ ö\»Ä ©ØÖ® ©õÔ ö\»Ä £ØÔ¯ ]Ö 
SÔ¨ø£ ÁøμP. 

Or 

 (b) What are the functional relationships between TR, 
AR, and MR? 

  TR, AR ©ØÖ® MR US Cøh÷¯¯õÚ ö\¯À£õmk 
EÓÄPÒ GßÚ? 

15.  (a) Explain the salient features of perfect competition. 

  {øÓÄ¨ ÷£õmi°ß •UQ¯ A®\[PøÍ ÂÁ›UP. 

Or 

 (b) Describe the price and out-put determination under 
monopolistic competition. 

  \ºÁõvÚ¨ ÷£õmi°ß RÌ Âø» ©ØÖ® öÁÎ±k 
{ºn¯® BQ¯ÁØøÓ ÂÁ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically evaluate the welfare definition of economics. 

 ö£õ¸Íõuõμzvß ö£õx|» C»UPnzøu Â©º\Ú Ÿv¯õP 
©v¨¤kP. 

17. What are the four types of consumer Behaviour? Explain 
it. 

 |õßS ÁøP¯õÚ ~Pº÷Áõº |hzøu GßÚ? ÂÍUSP. 



S–6035 

  

  4

18. Elucidate the law of variable proportion. 

 EØ£zv°ß \›\© ©õÔ ÂQuõa\õμU ÷Põm£õmøh 
öuÎÄ£kzxP. 

19. Sketch the marginal revenue curves under perfect and 
imperfect markets. 

 {øÓÄ¨ ÷£õmi ©ØÖ® {øÓSøÓ A[Põi°ß RÌ 
CÖv{ø» Á¸Áõ´ ÁøÍÄPøÍ Áøμ¯Ä®. 

20. Enunciate the Oligopoly market. 

 ]À÷»õº •Ø Ö›ø©°øÚ ÂÁ›UP. 
 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2025 

Economics 

Allied – MANAGERIAL ECONOMICS 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention few importance of managerial economics. 

 ÷©Íõsø©¨ ö£õ¸Íõuõμzvß ]» •UQ¯zuÁzøuU 
SÔ¨¤k. 

2. What do you mean by the discounting principle? 

 PÈÄU öPõÒøP Gß£uß ö£õ¸Ò GßÚ? 

3. Define demand forecasting. 

 ÷uøÁ •ßPÛ¨¦ Áøμ¯ÖUP. 

4. What do you mean cost volume profit? 

 ö\»Ä öuõSv »õ£® GßÓõÀ GßÚ? 

5. Define price forecasting. 

 Âø» •ßPÛ¨¦ Áøμ¯ÖUP. 

6. What are pricing strategies? 

 Âø» {ºn¯ EzvPÒ GßÚ? 

Sub. Code 
23BAEA5 



S–6036 

  

  2

7. Define accounting rate of return. 

 PnUQ¯À Á¸Áõ´ ÂQuzøu Áøμ¯ÖUP. 

8. What do you meant by net present value method? 

 {Pμ uØ÷£õøu¯ ©v¨¦ •øÓ GßÓõÀ GßÚ? 

9. What do you mean by cost of dept capital? 

 Phß ‰»uÚzvß ö\»Ä GßÓõÀ GßÚ? 

10. Define common stock. 

 ö£õxÁõÚ C¸¨¦PøÍ Áøμ¯ÖUP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the characteristics of managerial 
economics. 

  ÷©»õsø©¨ ö£õ¸Íõuõμzvß £s¦PøÍ ÂÁ›UP. 

Or 

 (b) Explain the concept of opportunity cost. 

  Áõ´¨¦ ö\»Ä GßÓ P¸zøu ÂÍUSP. 

12. (a) Explain the non-statistical techniques of 
forecasting. 

  •ßPo¨¤ß ¦ÒÎ°¯À AÀ»õu ~m£[PøÍ 
ÂÍUSP. 

Or 

 (b) Describe the limitations of break-even points. 

  \›–{Pº–\© ¦ÒÎPÎß Áμ®¦PøÍ ÂÁ›UP. 
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13. (a) Distinguishes between retail price and 
manufacturer selling price. 

]À»øÓ Âø» ©ØÖ® EØ£zv¯õÍº ÂØ£øÚ 
Âø»ø¯ ÷ÁÖ£kzvU Põmk.  

Or 

 (b) Distinguishes between price discounts and 
differentials price. 

  Âø»z uÒÐ£iPÒ ©ØÓ® ÷ÁÖ£õkPÒ Âø» 
BQ¯ÁØÖUS Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍz u¸Â. 

14. (a) Explain the internal rate of return method. 

  EÒ v¸®¦® •øÓø¯ ÂÍUSP. 

Or 

 (b) What do you mean by cost benefit method? Explain 
it. 

  ö\»Ä £»ß •øÓ GßÓõÀ GßÚ? Aøu ÂÍUSP. 

15.  (a) Evaluating the cost of preferred stock. 

  Â¸¨£©õÚ £[Qß Âø»ø¯ ©v¨¥k ö\´P. 

Or 

 (b) Briefly explain the cost of retained earnings. 

  uUPøÁUP¨£mh Á¸Áõ°ß ö\»øÁ _¸UP©õP 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write an essay on nature and scope of managerial 
economics. 

 {ºÁõP¨ ö£õ¸Íõuõμzvß C¯À¦ ©ØÖ® ÷|õUP® SÔzx 
J¸ Pmkøμ ÁøμP. 
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17. Analyse the cost volume profit. 

 ö\»Ä öuõSv C»õ£ £S¨£õ´Ä ö\´P. 

18. Critically evaluate popular pricing methods and 
strategies. 

 ¤μ£»©õÚ Âø»°hÀ •øÓPÒ ©ØÖ® EzvPøÍ Â©º\Ú 
Ÿv¯õP ©v¨¥k ö\´P. 

19. What are the different steps in capital budgeting? Briefly 
explain it. 

 ‰»uÚ ÁμÄ – ö\»Ä EÒÍ £À÷ÁÖ £iPÒ GßÚ? 
_¸UP©õP ÂÍUSP. 

20. Elucidate the sources of funds for long term financing. 

 }sh Põ» {v²uÂUPõÚ {v Buõμ[PøÍ 
öuÎÄ£kzxP. 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2025 

Economics 

Allied – INDIAN ECONOMIC ISSUES 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention the few characteristics of Indian economy. 

 C¢v¯¨ ö£õ¸Íõuõμzvß ]» A®\[PøÍU SÔ¨¤kP. 

2. Define mixed economy. 

 P»¨¦ ö£õ¸Íõuõμzøu Áøμ¯ÖUP. 

3. What is the role of agriculture in India’s economy? 

 C¢v¯¨ ö£õ¸ÍõuõμzvÀ ÷ÁÍõsø©°ß £[S GßÚ? 

4. Define Green Revolution. 

 £_ø©¨ ¦μm]ø¯ Áøμ¯ÖUP. 

5. Write a short note on small scale industries in India. 

 C¢v¯õÂÀ EÒÍ ]Ö öuõÈÀPÒ £ØÔ J¸ ]Ö SÔ¨¦ 
ÁøμP. 

6. Define Cottage industries. 

 Siø\z öuõÈÀPøÍ Áøμ¯ÖUP. 
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7. What is balance of payments? 

 öPõk¨£ÚÍÄ GßÓõÀ GßÚ? 

8. What are the measures to correct balance of payment? 

 öPõk¨£ÚÍÄ \› ö\´¯ GßÚ ÁÈ•øÓPøÍ ¤ß£ØÓ 
÷Ásk®? 

9. Define Poverty. 

 ÁÖø©ø¯ Áøμ¯ÖUP. 

10. Write a short note on Unemployment. 

 ÷Áø»°ßø© £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the characteristics of Indian economy. 

  C¢v¯¨ ö£õ¸Íõuõμzvß £s¦PøÍ ÂÁ›UP. 

Or 

 (b) Explain the causes of population growth. 

  ©UPÒ öuõøP ö£¸UPzvØPõÚ Põμn[PÒ ÂÍUSP. 

12. (a) Briefly explain the role of agriculture in Indian 
economy. 

  C¢v¯¨ ö£õ¸ÍõuõμzvÀ ÷ÁÍõsø©°ß £[øP 
_¸UP©õP ÂÍUSP. 

Or 

 (b) Narrate the causes for low productivity in 
agriculture. 

  ÷ÁÍõsø©°À SøÓ¢u EØ£zv vÓÝUPõÚ 
Põμn[PøÍ ÂÁ›UP. 
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13. (a) Explain the recent initiatives for promoting small 
scale industries in India. 

  C¢v¯õÂÀ ]Ö öuõÈÀPøÍ ÷©®£kzxÁuØPõÚ 
\«£zv¯ •¯Ø]PøÍ ÂÍUSP. 

Or 

 (b) Explain the role of small scale and cottage 
industries in Indian economy. 

  C¢v¯¨ ö£õ¸ÍõuõμzvÀ ]Ô¯ AÍÂ»õÚ ©ØÖ® 
Siø\z öuõÈÀPÎß £[PÎ¨ø£ ÂÍUSP. 

14. (a) Explain the composition of trade. 

  ÁºzuPzvß EmTÖPøÍ ÂÍUSP. 

Or 

 (b) Illustrate the trends of India’s balance of payments. 

  C¢v¯õÂß A¯À|õmka ö\¾zx {ø»°ß 
(öPõk¨£ÚÍÄ) ÷£õUSPøÍ ÂÍUSP. 

15.  (a) Explain Anti–poverty measures taken by the 
government of India. 

  C¢v¯ Aμ\õ[PzuõÀ ÷©ØöPõÒÍ¨£mh ÁÖø© 
Gvº¨¦ |hÁiUøPPøÍ ÂÍUSP. 

Or 

 (b) Enlist the types of poverty. 

  ÁÖø©°ß ÁøPPøÍ ©v¨¤kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. India has abundant natural resources – substantiate the 
statement. 

C¢v¯õÂÀ HμõÍ©õÚ C¯ØøP ÁÍ[PÒ EÒÍÚ–
AÔUøPø¯ EÖv¨£kzuÄ®. 
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17. Critically evaluate the green revolution in India. 

 C¢v¯õÂÀ £_ø©¨ ¦μm]ø¯ Â©º\Ú Ÿv¯õP ©v¨¤kP. 

18. Analyse the industrial development since independence. 

 _u¢vμzvØS¨ ¤ÓS öuõÈÀxøÓ ÁÍºa]ø¯ £S¨£õ´Ä 
ö\´P. 

19. Elucidate the balance of payments. 

 öPõk¨£ÚÍÄPÎß \©{ø»ø¯ öuÎÄ£kzxP. 

20. What are the causes of unemployment? Explain the 
measures to resolve the unemployment. 

 ÷Áø»°ßø©UPõÚ Põμn[PÒ GßÚ? ÷Áø»°À»õz 
vshõmhzøuz wº¨£uØPõÚ |hÁiUøPPøÍ ÂÍUSP. 

  
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define gender. 

 £õ¼Úzøu Áøμ¯ÖUP. 

2. Mention the few scope of gender economics 

 £õ¼Ú ö£õ¸Íõuõμzvß ]» ÷|õUP[PøÍU SÔ¨¤k. 

3. What is eco-feminism? 

 `ÇÀ ö£so¯® GßÓõÀ GßÚ? 

4. Why is the environment a gender issue? 

 _ØÖa`ÇÀ Hß £õ¼Ú¨ ¤μa]øÚ? 

5. What do you mean by “Statistical Purdah”? 

 “¦ÒÎÂÁμ £ºuõ” Gß£uß ö£õ¸Ò GßÚ? 

6. What is the concept of the invisible woman? 

 PsqUS öu›¯õu ö£soß P¸zx GßÚ? 
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7. What do you understand about the sexual division of 

labour? 

 öuõÈ»õÍº £õ¼¯À £S¨¦ GßÓõÀ GßÚ? 

8. Define Feminization of labour 

 öuõÈ»õÍº ö£s©¯©õUPø» Áøμ¯ÖUP. 

9. What do you mean by gender budgeting? 

 £õ¼Ú ÁμÄ ö\»Ä vmh® GßÓõÀ GßÚ? 

10. How do NGOs promote equality? 

 Aμ_ \õμõ {ÖÁÚ[PÒ GÆÁõÖ \©zxÁzøu 

÷©®£kzxQßÓÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) What do you understand about classical feminism? 

Explain it 

  öuõsø©UPõ» ö£so¯® £ØÔ }[PÒ AÔÁx 

GßÚ? Aøu ÂÍUSP. 

Or 

 (b) What is the purpose of gender analysis in a 

development approach? 

  ÁÍºa] AqS•øÓ°À £õ¼Ú £S¨£õ´Âß 

÷|õUP® GßÚ? 
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12. (a) How are women related to nature and men related 

to culture? Explain it in relation to eco-feminism. 

  ö£sPÒ C¯ØøP÷¯õk® BsPÐUS 

P»õa\õμz÷uõk® G¨£j öuõhº¦ C¸UQÓx?  

_ØÖ`ÇÀ ö£so¯® öuõhº£õP Aøu ÂÍUSP. 

Or 

 (b) What are three points highlighted by the feminist 

lens used by Eco-feminism? 

  _ØÖa`ÇÀ ö£so¯® £¯ß£kzx® ö£so¯ 

£õºøÁ°À GkzxUPõmh¨£k® ‰ßÖ •UQ¯z 

uPÁÀPÒ ¯õøÁ? 

13. (a) Identify one key critique of the methods or concepts 

employed in traditional economic theory that 

contributes to the invisibility of women’s labour. 

  ö£sPÎß EøÇ¨¤ß PsqUSz öuv¯õuuØS 

£[PÎUS® £õμ®£›¯ ö£õ¸ÍõuõμU ÷Põm£õmjÀ 

£¯ß£kzu¨£k® •øÓPÒ AÀ»x P¸zxPÎß J¸ 

•UQ¯ Â©º\Úzøu Aøh¯õÍ® Põn. 

Or 

 (b) Discuss one significant limitation of the data system 

in India that leads to the underrepresentation of 

women’s economic contributions. 

  C¢v¯õÂÀ EÒÍ uμÄ Aø©¨¤ß SÔ¨¤hzuUP 

Áμ®ø£¨ £ØÔ ÂÁõvUPÄ®, Cx ö£sPÎß 

ö£õ¸Íõuõμ £[PÎ¨¦PøÍ SøÓÁõP 

¤μ{{vzxÁ¨£kQÓx. 
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14. (a) What do you understand by division of labour and 
sphere of work? Explain. 

  öuõÈ»õÍº ÷Áø»¨ £S¨¤ß ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? ÂÁ›UP. 

Or 

 (b) How does poverty affect the marginalized sections of 
society? 

  \‰Pzvß £õvUP¨£mh {ø»¨ ¤›ÂÚøμ ÁÖø© 
GÆÁõÖ £õvUQÓx? 

15.  (a) What is gender budgeting, and how does it 
contribute to promoting gender equality in public 
policy? 

  £õ¼Ú ÁμÄ ö\»Äz vmh® GßÓõÀ GßÚ, ö£õxU 
öPõÒøP°À £õ¼Ú \©zxÁzøu ÷©®£kzxÁuØS 
Ax GÆÁõÖ £[PÎUQÓx? 

Or 

 (b) Identify one key policy measure aimed improving 
gender equality in health or education. Briefly 
describe its significance. 

  _Põuõμ® AÀ»x PÀÂ°À £õ¼Ú \©zxÁzøu 
÷©®£kzxÁøu ÷|õUP©õPU öPõsh J¸ •UQ¯ 
öPõÒøP |hÁjUøPø¯ Aøh¯õÍ® PõnÄ®. Auß 
•UQ¯zxÁzøu _¸UP©õP ÂÁ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Name one key economist with Post Keynesian economics 
and briefly state their contribution to gender analysis. 

 ÷£õìm öP°ß]¯ß ö£õ¸Íõuõμzxhß öuõhº¦øh¯ J¸ 
•UQ¯ ö£õ¸Íõuõμ {¦nøμU SÔ¨¤hÄ® ©ØÖ® £õ¼Ú 
£S¨£õ´ÂÀ AÁºPÎß £[PÎ¨ø£a _¸UP©õPU 
SÔ¨¤hÄ®. 
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17. Compare and contrast the Women in Development (WID) 

and Women and Development (WAD) approaches. How 

does WAD address the limitations of WID in the context 

of gender inequality in development? 

 ö£sPÒ ÁÍºa] (WID) ©ØÖ® ö£sPÒ ©ØÖ® ÷©®£õk 

(WAD) AqS•øÓPøÍ J¨¤mk¨ £õºUPÄ®. ÁÍºa]°À 

£õ¼Ú \©zxÁªßø©°ß ¤ßÚo°À WID Cß 

Áμ®¦PøÍ WAD GÆÁõÖ {Áºzv ö\´QÓx? 

18. Evaluate the impact of traditional economic methods, 

concepts, and definitions on the marginalization of 

women’s labor. How do these biases affect economic 

policies and development outcomes? 

 ö£sPÎß EøÇ¨¦ Kμ[Pmh¨£kÁvÀ £õμ®£›¯ 

ö£õ¸Íõuõμ •øÓPÒ, P¸zxUPÒ ©ØÖ® Áøμ¯øÓPÎß 

uõUPzøu ©v¨¤k[PÒ. C¢ua \õº¦PÒ ö£õ¸ÍõuõU 

öPõÒøPPÒ ©ØÖ® ÁÍºa] ÂøÍÄPøÍ GÆÁõÖ 

£õvUQßÓÚ? 

19. Evaluate the role of microcredit in empowering women 

economically. To what extent does microcredit address 

structural inequalities, and what are its limitations in 

promoting sustainable development for women? 

 ö£sPøÍ ö£õ¸Íõuõμ Ÿv¯õP ÷©®£kzxÁvÀ 

]ÖPhßPÎß £[øP ©v¨¤k[PÒ. ø©U÷Pμõ Qöμim 

G¢u AÍÂØS Pmhø©Ÿ¦ HØÓzuõÌÄPøÍ {Áºzv 

ö\´QÓx ©ØÖ® ö£sPÐUPõÚ {ø»¯õÚ ÁÍºa]ø¯ 

FUSÂ¨£vÀ Auß Áμ®¦PÒ GßÚ? 
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20. Discuss the role of government and NGOs in improving 
health and education outcomes in rural and 
underdeveloped areas. How do their approaches differ, 
and what synergies can be created? 

 Qμõ©¨¦Ó ©ØÖ® ÁÍºa]¯øh¯õu £SvPÎß _Põuõμ® 
©ØÖ® PÀÂ ÂøÍÄPøÍ ÷©®£kzxÁvÀ Aμ_ ©ØÖ® 
ußÚõÆ öuõsk {ÖÁÚ[PÎß £[øP¨ £ØÔ 
ÂÁõvUPÄ®, AÁºPÎß AqS•øÓPÒ GÆÁõÖ 
÷ÁÖ£kQßÓÚ, GßÚ ]öÚºâPøÍ E¸ÁõUP •i²®? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is investment? 

 •u½k GßÓõÀ GßÚ? 

2. Mention the few importance of saving 

 ÷\ª¨¤ß ]» •UQ¯zxÁzøuU SÔ¨¤hÄ®. 

3. What do you mean by direct investment? 

 ÷|μi •u½k GßÓõÀ GßÚ? 

4. Define insurance 

 Põ¨¥k Áøμ¯ÖUP. 

5. Define the term of share market 

 £[Sa \¢øu Áøμ¯ÖUP. 

6. What is money market? 

 £n A[Põi GßÓõÀ GßÚ? 
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7. Define Tax 

 Á› Áøμ¯ÖUP. 

8. What do you mean by foreign exchange? 

 A¢v¯a ö\»õÁo GßÓõÀ GßÚ? 

9. Define the term of capital gain 

 ‰»uÚ Buõ¯® GßÓ £uzøu Áøμ¯ÖUP. 

10. What is futures and options trading’? 

 GvºPõ»® ©ØÖ® Â¸¨£ ÁºzuP® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, either (a) or (b) 

11. (a) Explain the different types of saving and 
investment. 

  £À÷ÁÖ ÁøP¯õÚ ÷\ª¨¦ ©ØÖ® •u½kPøÍ 
ÂÍUSP. 

Or 

 (b) Describe the role of savings and investment the 
development of individuals. 

  uÛ|£ºPÎß ÁÍºa]°À ÷\ª¨¦ ©ØÖ® •u½miß 
£[øP ÂÁ›UP. 

12. (a) Briefly explain the portfolio investment. 

  £s•P •u½møh _¸UP©õP ÂÁ›UP. 

Or 

 (b) Enunciate the traded funds. 

  ÁºzuP® ö\´¯¨£mh {vPøÍ ÂÁ›UPÄ®. 
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13. (a) Describe the distinguishes between primary and 

secondary market. 

  •ußø© ©ØÖ® Cμshõ® A[PõiUPÐUQøh÷¯ 

EÒÍ ÷ÁÖ£õkPøÍ ÂÁ›UP. 

Or 

 (b) What is foreign exchange market? What are the 

factors that affect the value and rates? 

  A¢{¯ ö\»õÁo A[Põi GßÓõÀ GßÚ? ©v¨¦ 

©ØÖ® ÂQu[PøÍ £õvUS® PõμoPÒ ¯õøÁ? 

14. (a) Describe the economics of scale in infrastructure. 

  EÒ Pmhø©¨¤À ö£õ¸Íõuõμzvß ]UPÚ 

|hÁiUøPøÍ ÂÁ›UP. 

Or 

 (b) Explain the merits and demerits of oil market. 

  Gsön´ A[Põi°ß |ßø© ©ØÖ® wø©PøÍ 

ÂÍUSP. 

15.  (a) Briefly explain merits and demerits risk 

distribution. 

  Chº £QºÂÀ EÒÍ {øμ SøÓPøÍ _¸UP©õP 

ÂÁ›UP. 

Or 

 (b) Describe the asset management strategies. 

  ö\õzx ÷©»õsø© EzvPøÍ ÂÁ›UPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically evaluate the distributional role of investment. 

 •u½miß £Qº¢uÎ¨¦ £[øP Â©º\Ú Ÿv¯õP ©v¨¤kP. 

17. Examine the traditional investment strategies in India. 

 C¢v¯õÂÀ EÒÍ £õμ®£›¯ •u½mk EzvPøÍ 
Bμõ²[PÒ. 

18. Analyse the commodities markets in India. 

 C¢v¯õÂÀ EÒÍ ö£õ¸mPÎß A[PõiPøÍ £S¨£õ´Ä 
ö\´P. 

19. Discuss the political and social environment stability in 
the economics of investors. 

 •u½mhõÍºPÎß ]UPÚzvÀ Aμ]¯À ©ØÖ® \‰P 
{ø»zußø©ø¯ ÂÁ›UP. 

20. Enunciate the investment methods and strategies of risk 
distribution. 

 Chº £QºÂß •u½mk •øÓPÒ ©ØÖ® EzvPøÍ 
ÂÁ›UP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a computer? 

PoÛ GßÓõÀ GßÚ? 

2. Write a short note of computer software. 

 PoÛ ö©ßö£õ¸Îß ]Ö SÔ¨ø£ ÁøμP. 

3. How to edit the MS word document? 

 MS Áõºzøu BÁnzøu GÆÁõÖ v¸zxÁx? 

4. How to create the MS power-point? 

 MS £Áº£õ°smøh GÆÁõÖ E¸ÁõUSÁx? 

5. What is data processing? 

 uμÄ ö\¯»õUP® GßÓõÀ GßÚ? 

6. List out the types of data. 

 uμÄ ÁøPPøÍ £mi¯¼kP. 
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7. How to insert the tables and Graphs? 

 AmhÁønPÒ ©ØÖ® Áøμ£h[PøÍ GÆÁõÖ ö\¸SÁx? 

8. Mention arithmetic operators in MS Excel. 

 MS Excel CÀ GsPou ö\¯»õUPzøu SÔ¨¤hÄ®. 

9. How to draw a demand function in MS Excel? 

 MS Excel CÀ J¸ ÷uøÁa \õº¤øÚ GÆÁõÖ Áøμ¯»õ®? 

10. How to calculate the mean with the help of MS Excel? 

 MS Excel EuÂ²hß \μõ\›ø¯ GÆÁõÖ PnUQkÁx? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Explain the input devices in computer. 

  PoÛ°À EÒÍ EÒÏmk \õuÚ[PøÍ ÂÍUSP. 

Or 

 (b) Sketch the output devices in computer.  

  PoÛ°À öÁÎ±mk \õuÚ[PøÍ ÂÁ›UP. 

12. (a) Write the steps to create tables using MS word. 

  MS Áõºzøuø¯¨ £¯ß£kzv AmhÁønPøÍ 
E¸ÁõUSÁuØPõÚ £iPøÍ GÊuÄ®. 

Or 

 (b) Narrate the steps to copy the document/text in the 
same file. 

  A÷u ÷Põ¨¤À BÁn®/Eøμø¯ |Pö»k¨£uØPõÚ 
£iPøÍ ÂÁ›UP. 
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13. (a) Explain the data processing techniques using  
MS Excel. 

  MS Excel I¨ £¯ß£kzv uμÄ ö\¯»õUP 
~m£[PøÍ ÂÍUSP. 

Or 

 (b) How to maintain the data storage and retrieval  
MS Excel? 

  uμÄ ÷\ª¨£Pzøu GÆÁõÖ £μõ©›¨£x ©ØÖ®  

MS Excel I «möhk¨£x? 

14. (a) Describe the steps to make charts and graphs in 
excel. 

  MS Excel&CÀ ÂÍUP¨£h[PÒ ©ØÖ® 
Áøμ£h[PøÍ E¸ÁõUSÁuØPõÚ £iPøÍ 
ÂÁ›UPÄ®. 

Or 

 (b) What are the components of MS – Excel? Explain it. 

  MS Excel Cß TÖPÒ ¯õøÁ? Aøu ÂÁ›UP. 

15.  (a) Explain the correlation and its function in  
MS Excel. 

  MS Excel CÀ EÒÍ öuõhº¦÷£õUS ©ØÖ® Auß 
ö\¯À£õmøh ÂÍUSP. 

Or 

 (b) How to draw a demand and supply functions in  
MS Excel? 

  MS Excel CÀ ÷uøÁ ©ØÖ® Â{÷¯õP ö\¯À£õmøh 
GÆÁõÖ Áøμ¯»õ®? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elucidate the computer applications and its uses in 
everyday life. 

 PoÛ £¯ß£õkPÒ ©ØÖ® AßÓõh ÁõÌUøP°À Auß 
£¯ß£õkPøÍ öuÎÄ£kzx[PÒ. 

17. Enunciate the features of MS Word. 

 MS Word Cß A®\[PøÍU TÓÄ®. 

18. Illustrate the opening and formatting of MS excel 
worksheet and workbook. 

 MS Gßö\À Â›uõÒ ©ØÖ® Â›uõÒ ¦zuPzvß vÓ¨¦ 
©ØÖ® ÁiÁø©¨ø£ ÂÍUP. 

19. How do you format text, tables and graphs? Explain the 
different graphs. 

 Á›, AmhÁønPÒ ©ØÖ® Áøμ£h[PøÍ GÆÁõÖ 
E¸ÁõUSQÓx? öÁÆ÷ÁÖ Áøμ£h[PøÍ ÂÍUSP. 

20. Describe the regression and its function in MS excel. 

 MS excel CÀ Ehß÷£õUS ©ØÖ® Auß ö\¯À£õmøh 
ÂÁ›UP.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define GDP. 

ö©õzu EÒ|õmk EØ£zvø¯ Áøμ¯ÖUP. 

2. What do you mean by national income accounting? 

 ÷u]¯ Á¸©õÚU PnUS GßÓõÀ GßÚ? 

3. What is the Say’s law 1803? 

 ÷\°ß \mh® 1803 GßÓõÀ GßÚ? 

4. What is meant by aggregate supply? 

 ö©õzu AÎ¨¦ GßÓõÀ GßÚ? 

5. Define effective demand. 

 E¢u¨£mh ÷uøÁø¯ Áøμ¯ÖUP. 

6. Define Marginal efficiency of capital. 

 ‰»uÚzvß C¸v{ø»z vÓøÚ Áøμ¯ÖUP. 
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7. Who gave the relative income hypothesis? 

 öuõhº¦øh¯ Á¸©õÚU P¸x÷PõøÍ ÁÇ[Q¯Áº ¯õº? 

8. Who wrote the life cycle hypothesis theory? 

 ÁõÌUøP _ÇØ] P¸x÷PõÒ ÷Põm£õmøh GÊv¯Áº ¯õº? 

9. Define Inflation. 

 £nÃUPzøu Áøμ¯ÖUP. 

10. Write a short note on consumer price index. 

 ~Pº÷Áõº Âø»U SÔ±k J¸ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Explain the value added method. 

  ©v¨¦ Tmh¨£mh •øÓø¯ ÂÍUSP. 

Or 

 (b) Describe the happiness index model. 

  ©QÌa] SÔ±mk ©õv›ø¯ ÂÁ›UP. 

12. (a) Distinguishes between aggregated demand and 
aggregate supply. 

  ö©õzu ÷uøÁ ©ØÖ® ö©õzu AÎ¨¤ØS® EÒÍ 
÷ÁÖ£õkPøÍz u¸Â. 

Or 

 (b) What are the main assumptions of classical theory? 
Explain it. 

  öuõsø©U ÷Põm£õmiß •UQ¯ AÝ©õÚ[PÒ 
¯õøÁ? Aøu ÂÍUSP. 
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13. (a) What is the theory of liquidity preference? Explain. 

  £n¨¦ÇUP (}ºø©) Â¸¨£U ÷Põm£õk GßÚ? 
ÂÁ›UP. 

Or 

 (b) What is a multiplier? Explain it. 

  ö£¸UQ GßÓõÀ GßÚ? Aøu ÂÍUSP. 

14. (a) Explain the absolute income hypothesis. 

  •Êø©¯õÚ Á¸©õÚU P¸x÷PõøÍ ÂÍUSP. 

Or 

 (b) Describe Friedman’s permanent income hypothesis. 

  L¨Ÿm÷©Ûß {μ¢uμ Á¸©õÚU P¸x÷PõøÍ 
ÂÁ›UP. 

15.  (a) Distinguishes between Demand Pull Inflation and 
Cost Push Inflation. 

  DºUP¨£mh ÷uøÁ ©ØÖ® E¢u¨£mh ö\»Ä 
£nÃUPzvØS® Cøh÷¯ EÒÍ ÷ÁÖ£õmøhU 
Põmk. 

Or 

 (b) How is Indian CPI calculated? Explain it. 

  C¢v¯ ~Pº÷Áõº Âø»U SÔ±k GÆÁõÖ 
PnUQh¨£kQÓx? Aøu ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elucidate the circular flow of income and expenditure. 
 Á¸©õÚ® ©ØÖ® ö\»ÂÚ[PÎß Ámh Kmhzøu 

öuÎÄ£kzxP. 

17. “Classical economics does not provide any independent 
theory of employment” Comment. 

 “öuõsø©¨ ö£õ¸Íõuõμ® G¢u J¸ _¯õwÚ©õÚ ÷Áø» 
Áõ´¨¦U ÷Põm£õmøh²® ÁÇ[PÂÀø»” P¸zx. 
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18. What, according to Keynes, are the chief determinants of 
the level of employment? Explain. 

 öP´ßêß TØÖ¨£i, ÷Áø»Áõ´¨¤ß AÍøÁ 
wº©õÛUS® •UQ¯ PõμoPÒ GßÚ? ÂÁ›UP. 

19. Critically evaluate Duesenberry’s relative income 
hypothesis. 

 i³\ßö£›°ß öuõhº¦øh¯ Á¸©õÚU P¸x÷PõøÍ 
Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 

20. What is the Phillips curve? Why has it flattened? Explain 
it. 

 ¤¼¨ì ÁøÍÄ GßÓõÀ GßÚ? Ax Hß umøh¯õÚx? 
Aøu ÂÍUSP.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define variables. 

 ©õÔPøÍ Áøμ¯ÖUP. 

2. What do you mean by linear function? 

 ÷|›¯À \õº¦ GßÓõÀ GßÚ? 

3. What are the different types of matrix? 

 Ao°ß £À÷ÁÖ ÁøPPÒ GßÚ? 

4. What is the law of inverse matrixes? 

 uø»RÌ AoPÎß Âv GßÚ? 

5. What is the Hawkins – Simon condition in the input – 
output model? 

 EÒÏk & öÁÎ±k ©õv›°À íõUQßì & ø\©ß {ø» 
GßÚ? 
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6. Mention few uses of Wassily Leontief input – output 
model. 

 Wassily Leontief EÒÏk & öÁÎ±k ©õv›°ß ]» 
£¯ß£õkPøÍU SÔ¨¤kP. 

7. How to calculate the slope of a curve? 

 J¸ ÁøÍÂß \õ´øÁ GÆÁõÖ PnUQkÁx? 

8. How to measure price elasticity of demand? 

 ÷uøÁ°ß Âø» ö|QÌa]zußø©ø¯ GÆÁõÖ 
AÍÂkÁx? 

9. What does the second derivative say about a function? 

 J¸ \õº¦ £ØÔ CμsõÁx ÁÈz÷uõßÓÀ GßÚ ö\õÀQÓx? 

10. What do you mean by optimization in economics? 

 ö£õ¸ÍõuõμzvÀ Ezu©® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Describe the equations and its types. 

  \©ß£õkPÒ ©ØÖ® Auß ÁøPPøÍ ÂÁ›UP. 

Or 

 (b) Explain the uses and limitations of mathematics in 
economics. 

  ö£õ¸ÍõuõμzvÀ Pouzvß £¯ß£õkPÒ ©ØÖ® 
Áμ®¦PøÍ ÂÍUSP. 
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12. (a) Find the value of the k , such that matrix 








=
63

2 k
A  is a singular matrix. 

  Ao 






=
63

2 k
A  ÷£õßÓ k  Cß ©v¨ø£U 

PshÔ¯Ä® J¸ JØøÓ Ao BS®. 

Or 

 (b) Solve the following equations by using Cramer’s 

rule 
237
1332

=+
=+

yX
yx

. 

  Uμõ©º Âvø¯¨ £¯ß£kzv ¤ßÁ¸® 

\©ß£õkPøÍz wºUP 
237
1332

=+
=+

yX
yx

. 

13. (a) To solve the appropriate matrix  

  
61452
3242
95945

=++
=++
=++

zyx
zyx
zyx

 

  ö£õ¸zu©õÚ Aoø¯z wºUP  

  
61452
3242
95945

=++
=++
=++

zyx
zyx
zyx

 

Or 

 (b) The technology matrix of an economic system of two 

industries is 







33.041.0
30.050.0

 test whether the system 

is viable as per Hawkins – Simon conditions. 

  Cμsk öuõÈÀPÎß ö£õ¸Íõuõμ Aø©¨¤ß 
öuõÈÀ~m£ Ao°øÚ, íõUQßì&ø\©ß 
{£¢uøÚPÎß£i A¢u Aø©¨¦ \õzv¯©õÚuõ 
Gß£øua ÷\õvzx AÔP. 
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14. (a) If demand function of the firm is given as 

2205000 xxp −−= , find TR, MR and comment on 

the nature of the firm. 

  {ÖÁÚzvß ÷uøÁ ö\¯À£õk 2205000 xxp −−=  

GÚ ÁÇ[P¨£mhõÀ, TR, MR BQ¯ÁØøÓU 

PshÔ¢x, {ÖÁÚzvß ußø©ø¯¨ £ØÔ P¸zx 

öu›ÂUP. 

Or 

 (b) Explain the relationship between AR, MR and MC. 

  AR, MR ©ØÖ® MC US Cøh°»õÚ EÓøÁ 

ÂÍUSP. 

15.  (a) Find the maximum and minimum values of 

  (i) 23 23 +−= xxY  

  (ii) 243 34 +−= xxY .  

  AvP£m\ ©ØÖ® SøÓ¢u£m\ ©v¨¦PøÍU PshÔP 

  (i) 23 23 +−= xxY  

  (ii) 243 34 +−= xxY . 

Or 

 (b) Find the relative maxima and minima of y  by the 

second-derivative test 353
3
1 23 ++−= xxxY . 

  CμshõÁx ÁÈz÷uõßÓÀ ÷\õuøÚ ‰»® y  Cß 

öuõhº¦øh¯ AvP£m\® ©ØÖ® SøÓ¢u£m\zøuU 
PshÔP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the power function and homogeneous function. 

 AkUS©õÚ \õº¦ ©ØÖ® J÷μ ©õv›¯õÚ \õº¦ ÂÁ›UP. 

17. Find the inverse of matrix 















−−−=
312
475

321
A . 

 Ao =A  Cß uø»RÌ Gß£øuU PshÔP 
















−−−
312
475

321
. 

18. In an economy of two industries A  and B , the data is 
given below  

Producer User Agriculture Industry Final Demand

Agriculture 300 600 100

Industry 400 1200 400

 Determine the total output of the sectors, if the final 
demands are changed to 200 and 800 respectively. 

 A  ©ØÖ® B  BQ¯ Cμsk öuõÈÀPÎß 
ö£õ¸ÍõuõμzvÀ, uμÄ R÷Ç öPõkUP¨£mkÒÍx 

Producer User Agriculture Industry Final Demand

Agriculture 300 600 100

Industry 400 1200 400

 CÖv ÷uøÁPÒ •øÓ÷¯ 200 ©ØÖ® 800 BP 
©õØÓ¨£mhõÀ, xøÓPÎß ö©õzu EØ£zvø¯z wº©õÛUP. 
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19. To find the following is increasing or decreasing in the 
functions 22610 xx −− . 

 ¤ßÁ¸£øÁ 22610 xx −−  \õº¦PÎÀ AvP›zx AÀ»x 
SøÓÁøuU PshÔP. 

20. Find the second derivative of the following function 
( ) 10354 23 +−+= xxxxf . 

 ¤ßÁ¸® \õº¤ß CμshõÁx ÁÈz÷uõßÓø»U PshÔP 

( ) 10354 23 +−+= xxxxf . 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by entrepreneurship? 

 öuõÈÀ•øÚÄ GßÖ }Âº AÔÁx GßÚ? 

2. Mention the few barriers to entrepreneurship. 

 öuõÈÀ•øÚÂØPõÚ ]» uøhPøÍ SÔ¨¤kP. 

3. Define motivation. 

 FUPzøu Áøμ¯ÖUP. 

4. What is the risk-taking behavior of entrepreneurship? 

 öuõÈÀ•øÚ÷Áõ›ß A£õ¯Pμ©õÚ |hzøu GßÚ? 

5. Mention the few skills of an entrepreneur. 

 J¸ öuõÈÀ•øÚ÷Áõ›ß ]» vÓßPøÍU SÔ¨¤kP. 

6. What is the true meaning of creativity? 

 £øh¨£õØÓ¼À Esø©¯õÚ ö£õ¸Ò GßÚ? 
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7. Which of the following are sources of financing? 

 ¤ßÁ¸ÁÚÁØÔÀ Gx {v Buõμ[PÒ? 

8. What do you mean by merchant bank? 

 ÁoPº Á[Q GßÓõÀ GßÚ? 

9. What is the full form of IDR act? 

 IDR \mhzvß •Ê ÁiÁ® GßÚ? 

10. What is the Industrial employment Standing Order Act of 
1946? 

 1946 Cß öuõÈÀxøÓ ÷Áø»Áõ´¨¦ {ø»°¯Ø \mh® 
GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Explain the types of entrepreneurs. 

  öuõÈÀ•øÚ÷Áõº ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Describe the factors influencing entrepreneurship.  

  öuõÈÀ•øÚ÷Áõøμ £õvUS® PõμoPøÍ ÂÁ›UP. 

12. (a) Illustrate Maslow’s motivation theory of 
entrepreneur. 

  ©õì÷»õÂß öuõÈÀ•øÚ÷Áõ›ß FUPU 
÷Põm£õmøh ÂÍUSP. 

Or 

 (b) Explain the difference between Maslow and 
McGregor’s theory of motivation? 

  ©õì÷Põ ©ØÖ® ö©U›÷Põ›ß E¢xuÀ 
÷Põm£õmiØS Cøh÷¯ EÒÍ ÷ÁÖ£õmøh 
ÂÍUSP. 
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13. (a) Describe the differences between invention and 
innovation. 

  Psk¤i¨¦US® ¦xø©US® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPøÍ ÂÁ›UP. 

Or 

 (b) Explain the distinguishes between decision-making 
and problem-solving in entrepreneurship. 

  öuõÈÀ•øÚÂÀ •iöÁk¨£uØS® ]UPø»z 
wº¨£uØS® Cøh÷¯ EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 

14. (a) Write a short note on ICICI. 

  ICICI £ØÔ J¸ ]Ö SÔ¨ø£ ÁøμP. 

Or 

 (b) Briefly explain the IFCI. 

  IFCI £ØÔ _¸UP©õP ÂÍUSP. 

15.  (a) Describe the main objectives of Factories Act 1948. 

  öuõÈØ\õø»PÒ \mh® 1948ß •UQ¯ ÷|õUP[PøÍ 
ÂÁ›UP. 

Or 

 (b) Describe the salient features of the Industrial 
Employment (Standing Orders) Act 1946. 

  öuõÈÀxøÓ ÷Áø»Áõ´¨¦ ({ø»¯ EzuμÄPÒ) 
\mh® 1946 Cß •UQ¯ A®\[PøÍ ÂÁ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically examine the term ‘evolution of 
entrepreneurship’. 

 ‘öuõÈÀ•øÚ÷Áõ›ß £›nõ©®’ GßÓ ö\õÀø» Â©º\Ú 
Ÿv¯õP Bμõ´P. 
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17. Discuss the need for achievement theory of McClelland. 

 McClelland Cß \õuøÚU ÷Põm£õmiß AÁ]¯zøu¨ 
£ØÔ ÂÁõvUP. 

18. Examine the legal protection of innovation in India. 

 C¢v¯õÂÀ ¦xø©UPõÚ \mh¨§ºÁ £õxPõ¨ø£ Bμõ´P. 

19. What do you mean by NBFCs in India? Explain it. 

 C¢v¯õÂÀ EÒÍ NBFCPÒ GßÓõÀ GßÚ? Aøu 
ÂÍUSP. 

20. Discuss the provisions relating to welfare of workers 
under the Factories Act 1948. 

 öuõÈØ\õø»PÒ \mh® 1948ß RÌ öuõÈ»õÍº |»ß 
öuõhº£õÚ ÂvPøÍ¨ £ØÔ ÂÁõvUP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are called events?  

 {PÌÄPÒ GßÖ AøÇUP¨£kQßÓx GßÚ? 

2. What are the objectives of event management? 

 {PÌÄ ÷©»õsø©°ß ÷|õUP[PÒ GßÚ? 

3. Define creativity. 

 £øh¨£õØÓø» Áøμ¯ÖUP. 

4. What is the event budget projection? 

 {PÌÄ ÁμÄ ö\»Ä vmh® GßÚ? 

5. Who are event staffs? 

 {PÌÄ FÈ¯ºPÒ ¯õº? 

6. How do you organize an event committee? 

 {PÌÄU SÊøÁ GÆÁõÖ JÊ[Pø©¨£x? 
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7. Why is crowd management important? 

 Tmh ÷©»õsø© Hß •UQ¯©õÚx? 

8. What is confidentiality in the workplace? 

 £o°hzvÀ CμP]¯zußø© GßÓõÀ GßÚ? 

9. When did event management start in India? 

 C¢v¯õÂÀ {PÌÄ ÷©»õsø© G¨÷£õx öuõh[Q¯x? 

10. Who is the most famous event planner in India? 

 C¢v¯õÂÀ ªPÄ® ¤μ£»©õÚ {PÌÄ vmhªk£Áº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) How do you classify the events? Explain. 

  {PÌÄPøÍ GÆÁõÖ ÁøP¨£kzxQÕºPÒ? 
ÂÍUPÄ®. 

Or 

 (b) How many types of events are there? Explain. 

  GzuøÚ ÁøP¯õÚ {PÌÄPÒ EÒÍÚ? ÂÍUPÄ®. 

12. (a) What is social media? Analyse the performance of 
social media. 

  \‰P FhP® GßÓõÀ GßÚ? \‰P FhP[PÎß  
ö\¯ÀvÓøÚ £S¨£õ´Ä ö\´P. 

Or 

 (b) Describe the cost of events. 

  {PÌÄPÎß Âø»ø¯ ÂÁ›UP. 
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13. (a) How to manage event health and safety for 
everyone? Explain. 

  AøÚÁ¸US® {PÌÄ B÷μõUQ¯® ©ØÖ® 
£õxPõ¨ø£ GÆÁõÖ {ºÁQ¨£x? ÂÍUSP. 

Or 

 (b) Give details of emergency planning checklist for 
special events. 

  ]Ó¨¦ {PÌÄPÐUPõÚ AÁ\μ vmhªhÀ \›£õº¨¦¨ 
£mi¯¼ß ÂÁμ[PøÍU öPõk[PÒ. 

14. (a) What are the current challenges facing the event 
management companies? 

  {PÌÄ ÷©»õsø© {ÖÁÚ[PÒ GvºöPõÒÐ® 
uØ÷£õøu¯ \ÁõÀPÒ GßÚ? 

Or 

 (b) How can you manage crowd safety? Explain the 
event planning. 

  Tmhzvß £õxPõ¨ø£ }[PÒ GÆÁõÖ 
{ºÁQUP»õ®? {PÌÄ vmhªhø» ÂÍUSP. 

15.  (a) Describe the growth of event management industry 
in India. 

  C¢v¯õÂÀ {PÌÄ ÷©»õsø© xøÓ°ß 
ÁÍºa]ø¯ ÂÁ›UP. 

Or 

 (b) List out the leading event management companies 
in India. 

  C¢v¯õÂÀ EÒÍ •ßÚo {PÌÄ ÷©»õsø© 
{ÖÁÚ[PøÍ £mi¯¼kP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. How to start your career in event management? Explain. 

 {PÌÄ {ºÁõPzvÀ E[PÒ ÁõÌUøPø¯ GÆÁõÖ 
öuõh[SÁx? ÂÍUSP. 

17. Discuss the art of social media for event planners and 
successful event promotion. 

 {PÌÄ vmhªk£ÁºPÒ ©ØÖ® öÁØÔPμ©õÚ {PÌÄ 
ÂÍ®£μzvØPõÚ \‰P FhPzvß Pø»ø¯¨ £ØÔ 
ÂÁõvUP. 

18. Examine the importance of venue selection for event 
planning. 

 {PÌÄ vmhªh¾UPõÚ Chzøuz ÷uº¢öuk¨£uß 
•UQ¯zxÁzøu Bμõ´P. 

19. Discuss the effective budget strategies for conducting 
event cost management. 

 {PÌÄ ö\»Ä {ºÁõPzøu |hzxÁuØPõÚ £¯ÝÒÍ 
£möám EzvPøÍ¨ £ØÔ ÂÁõvUP. 

20. Examine the performance of event management industry 
in India. 

 C¢v¯õÂÀ {PÌÄ ÷©»õsø© xøÓ°ß ö\¯ÀvÓøÚ 
Bμõ´P. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is money supply? 
 £n AÎ¨¦ GßÓõÀ GßÚ? 

2. What are the factors shifting in the LM curve? 

 LM ÁøÍÄ ©õØÓzvØPõÚ PõμoPÒ GßÚ? 

3. Write a short note on business cycle. 
 ÁoP _ÇØ] ]Ö SÔ¨¦ ÁøμP. 

4. Mention the three main differences between Keynesian 
and classical business cycle. 

 öP°ß]¯ß ©ØÖ® öuõsø© ÁoP _ÇØ]US 
Cøh°»õÚ ‰ßÖ •UQ¯ ÷ÁÖ£õkPøÍU SÔ¨¤k. 

5. List out the primary functions of money. 
 £nzvß •ußø© ö\¯À£õkPøÍ Á›ø\¨£kzx. 

6. What is monetary policy? 
 £nU öPõÒøP GßÓõÀ GßÚ? 

Sub. Code 
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7. What do you mean by fiscal expansion? 
 {v Â›ÁõUP® GßÓõÀ GßÚ? 

8. What are the instruments of fiscal policy? 
 {vU öPõÒøP°ß P¸ÂPÒ ¯õøÁ? 

9. What do you mean by rational expectations? 
 £SzuÔÄ Gvº£õº¨¦PÒ }Âº AÔÁx GßÚ? 

10. What is the main idea of the new Keynesian economics? 
 ¦v¯ öP°ß]¯ß ö£õ¸Íõuõμzvß •UQ¯ ÷¯õ\øÚ 

GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Why is the LM curve a depiction of equilibrium in 
the money market? What factors cause the LM 
curve to shift and in what direction? 

  LM ÁøÍÄ Hß £n A[Põi°À \©{ø»°ß 
]zu›¨£õP EÒÍx? LM ÁøÍøÁ G¢u vø\°À 
©õØÖÁuØS GßÚ PõμoPÒ Põμn©õQßÓÚ? 

Or 

 (b) Describe the relationship between investment and 
interest rate. 

  •u½k ©ØÖ® Ámi ÂQuzvØS©õÚ öuõhºø£ 
ÂÁ›UP. 

12. (a) Enunciate classical theory of business cycle. 
  ÁoP _ÇØ]°ß öuõsø©U ÷Põm£õmøhU TÖ. 

Or 

 (b) Elucidate the Hawtrey theory of Business Cycles. 
  PõÆ÷μ ÁoP _ÇØ]U ÷Põm£õmøh öuÎÄ£kzx. 
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13. (a) What are the instruments of monetary policy? 
Explain. 

  £nÂ¯À öPõÒøP°ß P¸ÂPÒ ¯õøÁ? ÂÁ›UP. 

Or 

 (b) Describe classical Dichotomy. 
  öuõsø©¨ ö£õ¸Íõuõμ ÁÀ¾|ºPÎß Cμmøh 

ö£õ¸Íõuõμzøu ÂÁ›UP. 

14. (a) Elucidate views of fiscal policy in classical theory. 
  öuõsø©U ÷Põm£õmiÀ {vU öPõÒøP°ß 

£õºøÁPøÍ öuÎÄ£kzxP. 

Or 

 (b) Enunciate the general equilibrium of IS-LM with 
effects of fiscal policy. 

  {vU öPõÒøP°ß ÂøÍÄPÐhß IS-LM Cß ö£õx 
\©{ø»ø¯ ÂÍUSP. 

15. (a) Examine the contribution in supply side economics 
of Robert Lucas. 

  μõ£ºm ¾Põêß AÎ¨¦ ö£õ¸Íõuõμ £[PÎ¨ø£ 
Bμõ´P. 

Or 

 (b) Criticism of rational expectation hypothesis. 
  £SzuÔÄ Gvº¨£õº¨¦ P¸x÷PõÒ £ØÔ¯ Â©º\Ú® 

ö\´P. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Reckon the demand and supply of money. 
 £nzvß ÷uøÁ ©ØÖ® AÎ¨ø£U PnUQk[PÒ. 

17. Critically evaluate the Keynesian theory of business 
cycles. 

 ÁoP _ÇØ]PÎß öP°ß]¯ß ÷Põm£õmøh Â©º\Ú 
Ÿv¯õP ©v¨¤kP. 
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18. Does it possible to stabilize the economy through 
instruments of fiscal policy? Explain. 

 {vU öPõÒøP°ß P¸ÂPÒ ‰»® ö£õ¸Íõuõμzøu 
{ø»¨£kzu •i²©õ? ÂÁ›UP. 

19. Examine the expansionary fiscal policy. 

 Â›ÁõUP {vU öPõÒøP°øÚ Bμõ´P. 

20. Analyse the impact of supply side economics in new 
classical school. 

 AÎ¨¦ ö£õ¸ÍõuõμzvÀ ¦v¯ öuõsø©¨ £ÒÎ°ß 
uõUPzøu £S¨£õ´Ä ö\´P. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write a short note on NITI Aayog. 

 {v B÷¯õU ]Ö SÔ¨¦ ÁøμP. 

2. What do you mean by planned economic development? 

 vmhªmh ö£õ¸Íõuõμ ÁÍºa] GßÖ GøuU 
SÔ¨¤kQÕºPÒ? 

3. Define poverty line. 

 Á¸ø©U÷Põk ÁøμP. 

4. What do you mean by unemployment? 

 ÷Áø»°À»õ vshõmh® £ØÔ }Âº AÔÁx GßÚ? 

5. What is agricultural marketing? 

 ÷ÁÍõs A[Põi¨£kzxuÀ GßÓõÀ GßÚ? 

6. Write a short note on green revolution. 

 £_ø©¨ ¦μm] £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 
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7. Define FDI. 

 FDI ø¯ Áøμ¯ÖUP. 

8. What do you mean by Foreign Institutional Investors? 

 öÁÎ|õmk {ÖÁÚ •u½mhõÍºPÒ GßÓõÀ GßÚ? 

9. Define federal finance. 

 Tmhõm] {vø¯ Áøμ¯ÖUP. 

10. Write a short note on finance commission. 

 {v PÇP® £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the features and issues of Indian economy. 

  C¢v¯¨ ö£õ¸Íõuõμzvß A®\[PÒ ©ØÖ® 
]UPÀPøÍ ÂÍUSP. 

Or 

 (b) Enunciate the economic reforms in India since 1991. 

  1991 •uÀ C¢v¯õÂß ö£õ¸Íõuõμ ^ºv¸zu[PøÍ 
GkzxøμUP.  

12. (a) Describe the sectoral contributions and economic 
transition in India. 

  C¢v¯õÂÀ xøÓ\õº £[PÎ¨¦PÒ ©ØÖ® 
ö£õ¸Íõuõμ ©õØÓzøu ÂÁ›UP. 

Or 

 (b) Explain the major indicators of regional disparities. 

  ¤μõ¢v¯ HØÓzuõÌÄPÎß •UQ¯ SÔPõmiPøÍ 
ÂÍUSP. 
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13. (a) Elucidate the agricultural marketing in India. 
  C¢v¯õÂÀ ÷ÁÚõsø© A[Põi¨£kzxuø» 

öuÎÄ¨£kzx[PÒ. 

Or 

 (b) Explain the service and financial sectors in India. 
  C¢v¯õÂÀ ÷\øÁ ©ØÖ® {vz xøÓPÒ ÂÍUPÄ®. 

14. (a) Elucidate the role of FDI in India. 
  C¢v¯õÂÀ AßÛ¯ ÷|μi •u½miß £[øP 

öuÎÄ¨£kzx. 

Or 

 (b) Explain the balance of payments crisis in India. 
  C¢v¯õÂÀ A¯À|õmka ö\¾zx{ø»°ß 

ö|¸UPi{ø»ø¯ ÂÍUSP. 

15. (a) Describe the principles of federal finance. 
  Tmhõm] {v°ß öPõÒøPPøÍ ÂÁ›UP. 

Or 

 (b) Briefly explains the vertical and horizontal equity in 
fiscal federalism. 

  {v Tmhõm]°À ö\[Szx ©ØÖ® Qøh©mh 
\©£[S £ØÔ _¸UP©õP ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically examine the new economic policy 1991. 

 1991 ¦v¯ ö£õ¸ÍõuõμU öPõÒøPø¯ Â©º\Ú Ÿv¯õP 
Bμõ´P. 

17. Analyse the causes and consequences of regional 
inequality in India. 

 C¢v¯õÂÀ ¤μõ¢v¯ \©zxÁªßø©UPõÚ Põμn[PÒ 
©ØÖ® ÂøÍÄPøÍ £S¨£õ´Ä ö\´P. 
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18. What do you mean by food security? Explain the 
challenges and opportunities in India. 

 EnÄ¨ £õxPõ¨¦ GßÓõÀ GßÚ? C¢u¯õÂÀ EÒÍ 
\ÁõÀPÒ ©ØÖ® Áõ´¨¦PøÍ ÂÍUSP. 

19. Critically evaluate the role of foreign institutional 
investment in India. 

 C¢v¯õÂÀ öÁÎ|õmk {ÖÁÚ •u½miß £[øP 
Â©º\Ú Ÿv¯õP ©v¨¤kP. 

20. Analyse the 16th finance commission reports in India. 

 C¢v¯õÂÀ 16Áx {v Bøn¯® AÔUøP £S¨£õ´Ä 
ö\´P. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Accounting. 

 PnUQ¯À Áøμ¯Ö. 

2. What is Double entry book keeping? 

 Cμmøh¨ £vÄ¨ ¦zuP £μõ©›¨¦ GßÓõÀ GßÚ? 

3. What is Journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

4. List down the types of Subsidiary books. 

 xøn HkPÎß ÁøPPøÍ GÊxP. 

5. What is Balance sheet? 

 C¸¨¦{ø»U SÔ¨¦ GßÓõÀ GßÚ? 

6. List down the types of Assets. 

 ö\õzxUPÎß ÁøPPøÍ £mi¯¼kP. 
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7. What is Bank Reconciliation Statement? 
 Á[Q \›Pmk® £mi¯À GßÓõÀ GßÚ? 

8. List down any two causes for difference between cash 
book and pass book balance. 

 ö\À÷»miß C¸¨¤ØS®, öμõUP HmiØS® EÒÍ 
÷ÁÖ£õmiØPõÚ H÷uÝ® Cμsk Põμn[PøÍ¨ 
£mi¯¼kP. 

9. What is meant by Tally software? 
 ÷h¼ ö©ßö£õ¸Ò GßÓõÀ GßÚ? 

10. What is contra voucher used for? 
 Põßmμõ £ØÖa^mk GuØPõP¨ £¯ß£kzu¨£kQÓx? 

 Part B  (5 × 5 = 25) 

Answer all questions either (a) or (b). 

11. (a) Discuss the functions of Accounting. 
  PnUQ¯¼ß ö\¯À£õkPÒ SÔzx ÂÁõvUPÄ®. 

Or 

 (b) Explain the rules for Double entry system of book 
keeping with examples. 

  Cμmøh¨ £vÄ •øÓ°ß ÂvPøÍ 
GkzxUPõmkPÐhß ÂÍUSP. 

12. (a) Show Journal entries from the following 
transactions of M/S Rao & sons  

Date 
2020 

Particulars Amount

Jan 1 Started business with cash 2,00,000

Jan 14 Purchased goods from Mr. B 20,000

Jan 17 Sold goods to Mr. Y for cash 45,000

Jan 22 Paid salaries 15,000

Jan 29 Received cash from Mr. X 12,000
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  v¸ÁõÍºPÒ μõÆ & \ßì {ÖÁÚzvß ¤ßÁ¸® 
|hÁiUøPPÎ¼¸¢x SÔ¨÷£mk¨ £vÄPøÍU 
PõmkP. 

÷uv 2020 ÂÁμ® öuõøP 

áÚÁ› 1 £nzxhß öuõÈÀ öuõh[QÚõº 2,00,000

áÚÁ› 14 v¸ B Gß£Á›hª¸¢x \μUS Áõ[Q¯x 20,000

áÚÁ› 17 v¸. Y Gß£Á¸US öμõUPzvØS \ºSPøÍ ÂØÓx 45,000

áÚÁ› 22 \®£Í® öPõkzux 15,000

áÚÁ› 29 v¸ X Chª¸¢x £n® ö£ØÓx. 12,000

Or 

 (b) Prepare Trial balance from the following:  

 Rs.  Rs. 

Capital 9,000 Rent Outstanding 1,000

Machinery 12,000 Opening Stock 2,000

Purchases 8,000 Sales returns 4,000

Sales 12,000 Investments 14,000

Sundry Creditors 8,000 Debtors 12,000

Bank loan 22,000   

  ¤ßÁ¸ÁÚÁØøÓU öPõsk C¸¨£õ´Ä  
u¯õ›UPÄ® : 

 ¹.  ¹. 

‰»uÚ® 9,000 ÁõhøP {¾øÁ 1,000

C¯¢vμ[PÒ 12,000 öuõhUPa \μUQ¸¨¦ 2,000

öPõÒ•uÀ 8,000 ÂØ£øÚ v¸®£ö£ØÓx 4,000

ÂØ£øÚ 12,000 •u½kPÒ 14,000

PhÜ¢÷uõº 8,000 PhÚõÎPÒ 12,000

Á[QU Phß 22,000   
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13. (a) Prepare Trading account of Arjun for the year 
ending 31.12.2017 from the following:  

 Rs.  Rs. 
Opening Stock 60,000 Purchases 9,60,000
Freight inward 50,000 Wages 20,000
Sales 15,40,000 Purchase returns 20,000
Sales returns 1,20,000 Closing stock 1,00,000

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x 31.12.2017 Ehß 
•iÁøh²® BskUS›¯ AºáüÛß Â¯õ£õμU 
PnUøPz u¯õ›UPÄ® : 

 ¹.  ¹. 
öuõhUPa \μUQ¸¨¦ 60,000 öPõÒ•uÀ 9,60,000
EÒ÷|õUQ \μUS 50,000 vÚUT¼ 20,000
ÂØ£øÚ 15,40,000 öPõÒ•uÀ v¸¨¤ 

AÝ¨¤¯x 
20,000

ÂØ£øÚ v¸®£ö£ØÓx 1,20,000 CÖva \μUQ¸¨¦ 1,00,000

Or 

 (b) From the following balances, Prepare Profit and 
Loss account of Mr. Raj.  

 Rs.  Rs. 
Gross profit 65,000 Repairs 1,500
Rent 2,000 Depreciation 1,200
Salary 2,900 Bad debts 3,000
Wages 2,100 Printing and Stationery 3,000
Discount to customers 1,000 Income received (Cr) 3,500

  ¤ßÁ¸® C¸¨¦PøÍU öPõsk v¸. Cμõâß C»õ£ 
|mhU PnUøPz u¯õº ö\´P. 

 ¹.  ¹. 
ö©õzu »õ£® 65,000 £Êx £õºzuÀ 1,500
ÁõhøP 2,000 ÷u´©õÚ® 1,200
\®£Í® 2,900 ÁõμõU Phß 3,000
vÚUT¼ 2,100 Aa]kuÀ & GÊxö£õ¸Ò 3,000
ÁõiUøP¯õÍºPÐUS 
uÒÐ£i 

1,000 Á¸©õÚ® ö£Ó¨£mhx 
(Cr) 

3,500
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14. (a) Prepare Bank Reconciliation Statement and 
ascertain the balance as per Pass book :  

   (i) Balance as per cash book Rs. 13,500 

   (ii) Cheques issued but not yet presented for 
payment Rs. 1,900 

   (iii) Cheques deposited into bank but not yet 
collected Rs. 2,200 

   (iv) Bank paid insurance premium Rs. 1,500 

  (v) Direct deposit by a customer not recorded in 
the cash book Rs. 1,800. 

  Á[Qa \›Pmk® £mi¯À u¯õº ö\´x 
ö\À÷»miß£i C¸¨ø£U PshÔP.  

  (i) öμõUP Hmiß£i C¸¨¦ ¹. 13,500 

  (ii) ÁÇ[P¨£mh Põ÷\õø»PÒ CxÁøμ £n® 
ö\¾zxÁuØPõP •ßÛø»¨£kzu¨£hÂÀø» 
¹. 1,900 

  (iii) Á[Q¯À ö\¾zu¨£mh Põ÷\õø» CßÝ® 
Á`À ö\´¯¨£hÂÀø» ¹. 2,200 

  (iv) Á[Q ö\¾zv¯ Põ¨¥mk ¤Ÿª¯® ¹. 1,500 

  (v) ÁõiUøP¯õÍº ÷|μi øÁ¨¦ öμõUP HmiÀ  
¹. 1,800 £vÄ ö\´¯¨£hÂÀø». 

Or 

 (b) Explain the method of preparing Bank 
reconciliation statement. 

  Á[Qa \›Pmk® £mi¯À u¯õ›US® •øÓø¯ 
ÂÍUSP. 

15.  (a) What are the types of ledgers to be created in Tally 
software? 

  ÷h¼ ö©ßö£õ¸ÎÀ E¸ÁõUP¨£h ÷Ási¯ 
÷£÷μkPÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Explain Tally and its applications. 
  ÷h¼ ©ØÖ® Auß £¯ß£õkPøÍ ÂÍUSP. 



S–6047 

  

  6

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What is Single entry system of book keeping? Explain its 
advantages and limitations. 

 PnU÷PkPÒ £μõ©›¨¤À JØøÓ¨ £vÄ •øÓ GßÓõÀ 
GßÚ? Auß |ßø©PÒ ©ØÖ® Áμ®¦PøÍ ÂÍUS[PÒ. 

17. Show necessary ledger accounts from the following in the 
books of Imran : 

  Rs. 

June 1 Started business with cash  45,000

June 2 Paid into bank 25,000

June 3 Goods purchased for cash 15,000

June 4 Sold goods for cash 8,500

June 8 Sold goods to Aravind 7,000

June 9 Withdrew from bank for office use 5,000

June 10 Paid Stationery 1,000

 C®μõÛß HkPÎÀ ¤ßÁ¸ÁÚÁØÔ¼¸¢x ÷uøÁ¯õÚ 
÷£÷μmkU PnUSPøÍU PõmhÄ® : 

  ¹. 

áüß 1 öμõUPzxhß öuõÈÀ öuõh[QÚõº  45,000

áüß 2 Á[Q°À öμõUP® ö\¾zu¨£mhx 25,000

áüß 3 öμõUPzvØS Áõ[Q¯ \μUSPÒ 15,000

áüß 4 öμõUPzvØS ö£õ¸mPøÍ ÂØP¨£mhx 8,500

áüß 8 AμÂ¢xUS \μUS ÂØP¨£mhx 7,000

áüß 9 A¾Á»P £¯ß£õmiØPõP Á[Q°¼¸¢x £n® 
GkUP¨£mhx 

5,000

áüß 10 GÊxö£õ¸Ò öμõUP® ö\¾zu¨£mhx 1,000
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18. Show the final accounts for 2015 from the following 
details : 

 Rs.  Rs. 

Land 4,000 Bills payable 700

Opening stock (1.1.2015) 4,000 Capital 15,000

Machinery 6,600 Bills receivable 1,500

Purchases 13,000 Sales 22,000

Wages 3,500 Rent 1,270

Interest paid 1,300 Furniture 300

Cash 230 Creditors 6,000

Debtors 8,000 Drawings 500

Purchase returns 1,500 Sales return 1,000

 Additional information : Closing stock (31.12.2015)  
Rs. 4,500. 

 ¤ßÁ¸® ÂÁμ[PøÍU öPõsk 2015 B® BsiØPõÚ 
CÖvU PnUSPøÍU PõmkP. 

 ¹.  ¹. 

{»® 
öuõhUPa \μUQ¸¨¦ 
(1.1.2015) 

4,000

4,000

ö\¾zuØS›¯ ©õØÖa 
^mkPÒ  
‰»uÚ® 

700

15,000

C¯¢vμ® 
öPõÒ•uÀ 

6,600
13,000

ö£ÖuØS›¯ ©õØÖa^mkPÒ

1,500

vÚUT¼ 3,500 ÂØ£øÚ 22,000

Ámi ö\¾zu¨£mhx 1,300 ÁõhøP 1,270

öμõUP® 230 uÍÁõh[PÒ 300

PhÚõÎPÒ 8,000 PhÜ¢÷uõº 6,000

öPõÒ•uÀ v¸¨¤ 
AÝ¨¤¯x 

1,500 Gk¨¦ 
ÂØ£øÚ v¸®£ö£ØÓx 

500

1,000

 TkuÀ uPÁÀ : CÖva \μUQ¸¨¦ (31.12.2015) ¹. 4,500. 
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19. Prepare a Bank Reconciliation statement from the 
following Particulars Bank balance as per Pass book  
Rs. 10,000. 

 (a)  Cheque deposited into the bank but no entry was 
passed in the cash book Rs. 500. 

 (b)  Cheques received but not sent to bank Rs. 1,200 

 (c)  Credit side of the bank column cash short by  
Rs. 200 

 (d)  Insurance premium paid directly by the Bank  
Rs. 600 

 (e)  Bank charges entered twice in the cash book Rs. 20 

 (f) Cheque issued but not presented to the bank for 
payment Rs. 500 

 RÌUPõq® ÂÁμ[PøÍU öPõsk Á[Qa \›Pmk® 
£mi¯À u¯õ›UP.  

 ö\À÷»miß£i Á[Q C¸¨¦ ¹. 10,000 

 (A) Á[Q°À ö\¾zu¨£mh Põ÷\õø» öμõUP HmiÀ 
£v¯¨£hÂÀø» ¹. 500 

 (B) Á[QUS AÝ¨£¨£mhõu BÚõÀ ö£Ó¨£mh 
Põ÷\õø»PÒ ¹. 1,200 

 (C)  Á[Q¨ £zv°ß ÁμÄ¨ £UP® öμõUP® SÖQ¯x  
¹. 200 

 (D)  Á[Q¯õÀ ÷|μi¯õP ö\¾zu¨£k® Põ¨¥mk ¤Ÿª¯® 
¹. 600 

 (E)  Á[QU Pmhn[PÒ öμõUP HmiÀ C¸•øÓ 
£v¯¨£mhx ¹. 20 

  (F) ÁÇ[P¨£mh Põ÷\õø» BÚõÀ £n® 
ö\¾zxÁuØPõP Á[Q°À \©º¨¤UP¨£hÂÀø»  
¹. 500 

20. Explain functional keys in Tally software. 

 ÷h¼ ö©ßö£õ¸ÎÀ ö\¯À£õmk Âø\PøÍ ÂÍUPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are commercial banks?  

 ÁoP Á[QPÒ GßÓõÀ GßÚ? 

2. What is a payment bank? 

 ÷£ö©sm Á[Q GßÓõÀ GßÚ? 

3. Mention the few functions of central bank 

 ©zv¯ Á[Q°ß ]» ö\¯À£õPøÍU SÔ¨¤k. 

4. What are the effects of monetary policy? 

£nÂ¯À öPõÒøP°ß ÂøÍÄPÒ GßÚ? 

5. Define insurance 

 Põ¨¥møh Áøμ¯ÖUP. 

6. List out the types of insurance 

 Põ¨¥mk ÁøPPøÍ £mi¯¼kP. 

Sub. Code 
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7. What is a contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

8. What do you mean by the principle of indemnity? 

 CÇ¨¥k GßÓ öPõÒøP°ß ‰»® }Âº AÔÁx GßÚ? 

9. Write a short note on agricultural insurance 

 ÷ÁÍõsø©U Põ¨¥k £ØÔ¯ ]Ö SÔ¨¦ ÁøμP. 

10. What is the IRDA Act? 

 IBºiH \mh® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Explain the merits and demerits of digital banking 

  ªßÛ¯À Á[Q°ß |ßø©PÒ ©ØÖ® wø©PøÍ 
ÂÍUSP. 

Or 

 (b) Distinguish between private and public sector 
banks. 

  uÛ¯õº ©ØÖ® ö£õxzxøÓ Á[QPÐUPõÚ 
÷ÁÖ£õkPøÍz u¸Â. 

12. (a) Explain the effects and limitations of monetary 
policy in central banks. 

  ©zv¯ Á[QPÎÀ £nÂ¯À öPõÒøP°ß 
ÂøÍÄPß ©ØÖ® Áμ®¦PøÍ ÂÍUSP. 

Or 

 (b) Briefly explain the Narasimhan committee report. 

  |μ]®©ß SÊ AÔUøPø¯ _¸UP©õP ÂÍUSP. 



S–6048 

  

  3

13. (a) Describe the classification of life insurance, Health, 
and General insurance.  

  B²Ò Põ¨¥k, EhÀ|»® ©ØÖ® ö£õx Põ¨¥k 
BQ¯ÁØÔß ÁøP¨£kzuø» ÂÁ›UP. 

Or 

 (b) Distinguishes between social Vs Private insurance. 

  \‰P Vs uÛ¯õº Põ¨¥møh ÷ÁÖ£kzx. 

14. (a) Explain the principles of indemnity. 

  CÇ¨¥miß öPõÒøPPøÍ ÂÍUSP. 

Or 

 (b) Describe the management of risk through 
identification analysis and control. 

  Chº ÷©»õsø©ø¯ Aøh¯õÍ £S¨£õ´Ä ©ØÖ® 
Pmk¨£õk ‰»® ÂÁ›UP. 

15.  (a) Explain reinsurance. 

  ©ÖPõ¨¥møh ÂÍUSP. 

Or 

 (b) Analyse the entry of private insurance companies. 

  uÛ¯õº Põ¨¥mk {ÖÁÚ[PÎß ~øÇøÁ 
£S¨£õ´Ä ö\´P. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically evaluate the digital baking in India. 

 C¢v¯õÂÀ ªßÚ°À Á[Q•øÓPøÍ Â©º\Ú Ÿv¯õÚ 
©v¨¥k ö\´P. 
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17. Elucidate the role and objectives of monetary policy in 
reserve bank of India. 

 C¢v¯ ›\ºÆ Á[Q°À £nÂ¯À öPõÒøP°ß £[S 
©ØÖ® ÷|õUP[PøÍ ÂÍUSP. 

18. Examine the general insurance policies in India. 

 C¢v¯õÂÀ EÒÍ ö£õxU Põ¨¥mkU öPõÒøPPøÍ 
Bμõ´P. 

19. Elucidate the types of risk management. 

 Chº ÷©»õsø© ÁøPPøÍ ÂÍUSP. 

20. Critically examine the agricultural insurance in India. 

 C¢v¯õÂÀ ÷ÁÍõsø©U Põ¨¥møh Â©º\Ú Ÿv¯õP 
Bμõ´P. 
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